
������� ��� �
	���
 ��� � ���

� ����� �����
� � ��� � ����� �  !�"�����#�$	!��%& 

' (*),+.-0/1(32 +4)5(

687:9<;>=@?BAC7EDF?HGJI5KMLONQPERTSUPUV,WX=Y;[Z>\];>?:7_^`SULFGQGba�GJIc^`SERT7EDdSU7UPUV
e0N[Gb?JG!fgDFRih>7E=jPERi?kNQV�e0N[Gb?JGml[n[lboJp*qOnbr>Vts<;E9<;>D

uwvtxzyb{kywy}|t~M��{B�}�bx<�����d�m������{Ty}y}{T�`�����.�>vtx������*���d�z��yC�txO�`�}xzxd�
��� ���>�4����{B�
xO�byb{�� � �t�
�d��|M��� �"���`�
�



����������	�
��


����������������������� "!#��$%����&'$%���������( ����*)#+*����,-�.��/�!0��$%1(������������+2���*3��4���51�������/�����$%17698:��$�!#��$%����&'$%�����
+2!#!;$%+23<�:+*�:+'3�$%��/����4�*=>+2!#!�3���+*���?�*=�����$@��,A����$%&B���(��$���$�3��A�����C�����D���E�*!0��6GFH!0+23�������/���+23:����+2)#�������I,
!#3��*!J$�3��K,L�*=M�K�5�2NK����/�����$�3-����+2��$%�'+*�#1O+P�.$�3���+*���Q��,R&-&'$���3�,S�*=:��/�3T&'�A1�$%�U+23�$V3�$%��!;���#����)#��$'=W�*3
����$X=W�*3�&-+2�������O�*=:����$V��$���$�3��R�������#���'���A�*!Y6Z8:��$(3�$%��/#�������� ?��$���$�3��A���C�������-���E�*![���\����+2)#��,L=W�*3�&'$%1
����3���/� ��]���E^2+23���+*�E�@��/�)#��!0+*�.$%�_����+2�@$.`������@=W�*3"����$-�.$�3���+*���S��,A&-&-$���3�,a�*=U��/�3b&'�R1�$%�dce+*��1S���@���
3��*)#/����4/���1�$�34��&-+*�C�#!J$�3���/�3�)#+2��������/�����$%���U����$_��,R&-&'$���3�,X���5)�3��*f*$%�76G8:��$M!#�E,R������+*�;&'$%����+*�#����&
�*=M����$V=g�*3<&-+2�������Q�*=�����$V��$���$�3��A���C�������X���E�*!h1��A$%�T���*�-1�$�!J$%��1O���[����$i����3�/��.��/�3�$X�*=M$%��$%&'$%�E���
+*�#1O����$X�*3��� ����S�*=M�.��/�!#������ �6Z8:��$�!#��$%����&'$%�����[+*�.��/�+*����,]+23��C��$%�T���O+Z����1�$X����+*���b�*=��.��/�!#��$%1
������������+2���*3���,A����$%&i6U8:��$@��$���$�3��A���C�������j���A�*!?���4$%+*���C��,X=W�*3�&'$%1?��$%+23�����$")#��=k/�3���+2��������!J�����E�l����$�3�$
����$M����+2��$M�*=7!;$�3�=g$%�.�m��,A���<��3����E,'������$%�m����+2)#�������I,*6>n5,'����$D+*��+*��,R�����9��$%+235����$:)0��=W/�3���+2�������T!J�����E��cE���
�C�U+23� �/�$%1X���#+2�5����$j���A��+*�;����+2)#���C���K,-�.����1#�����������U=g�*34����$D=W�*3�&-+2���������*=�+*�V+2����3�+*�.���C�� '��$���$�3��R�����������
���E�*!�+23�$a *$%��$�3�+*�C��,o��+2������p�$%1Lq�/����V+2)J��^*$L����$a)#��=W/�3<��+2�������r!J�����E��6s
R/��<�t)0��=W/�3���+2�������o��+*�u)J$
�C��1�/��.$%1Z)E,Z����&'$T1�$%��+�,Z���a�.��/�!#�C���� �6jvL$-+*����/�&-$b�5$%+2fa�.��/�!#������ X���Z����$��*3�$�������+*�m+2!�!�3���+*�<��$%��c
�M�������V!#3���^R��1�$%�:�.���#����1�$�3�+2)0��$D+*1�^w+*�E��+2 *$%�j���x+*��+*��,A�����_����/�1�,(�*=y����$@��,R����$%&x6



� ����	!����	� 

� ������� ��	��
	 � ������
��e
������ � �

� ������� ����� � ���C��
 � � ����������� �� ��� � � !

" 6$# 
R����� �����������#���� '���V����$@!0��+*��$@&'�R1�$%� 6"6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6_6@6@6@6_6"6 %

" 6 " 
A��+2)#�������K,(+*��+*��,A���C�4�*=>�I�U�2NK���C/�����$�3M����+2��$%�M+*��1V����$"��$���$�3��R���������C�D���E�*! 6_6@6@6@6_6"6 &

" 6(' )M,R��+*&-�C���:/���1�$�3l��&(+*���7��������$ 6_6@6@6_6"6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6_6@6@6@6_6"6 *

! +
� 	-,/.0	 � � ��� �w	�� �21 	 � 
 143 �W� �65 �%
2�7�7�W	��8�0���9���C� �0:;� �g	<. � 
 � ���W� �21>= �?��@��7� ��� ��A

'A6$# B �E��3��R1�/��.�������?6@6@6_6@6@6"6_6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6_6@6@6@6_6"6C#D#

'A6 " E �R1�$%��6@6"6_6@6@6_6@6@6"6_6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6_6@6@6@6_6"6C#D#

'A6(' FM/�&-$�3�����+*�J3�$%��/#�����x6@6@6"6_6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6_6@6@6@6_6"6C# "

'A6G% vL$%+2fi�.��/�!#������ b���C&-��� 6"6_6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6_6@6@6@6_6"6C#H'

'A6(I 8l�U�2N ������������+2���*3���,A����$%& 6_6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6_6@6@6@6_6"6C#HI

'A6(& JY�R��+*�Y����+2)#���C���K,�+*��+*��,R�����4=W�*3�+-��+23� *$_!J�*!#/#��+2������� 6_6"6@6@6_6@6@6_6"6@6_6@6@6@6_6"6C#8K

'A6LK M�$���$�3��R�������#���j���E�*! 6@6@6"6_6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6_6@6@6@6_6"6C#H*

'A6(* N5��������/�������� 6@6@6_6@6@6"6_6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6_6@6@6@6_6"6 " #

O = ����@P� � 
 + �7 ��g� 1 
Q.Y
2� ��5 �%
2�7�7�W	��8�0���-	 � 
R	.���9S9��TU����
�	������ �V� ���W��
*����� � �X!

%�6$# B �E��3��R1�/��.�������?6@6@6_6@6@6"6_6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6_6@6@6@6_6"6 " %

%�6 " MM���#1�&-+23�����NZY:����$D�����������C+2���*3��:�.��/�!#��$%1V)E,V �+2!Tq�/����.�������#�]6_6@6@6_6"6@6_6@6@6@6_6"6 " %

%�6(' 
A��+2)#�������K,(+*��+*��,A���C� 6@6@6"6_6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6_6@6@6@6_6"6 " I

%�6G% MM���#1�&-+23�����NZY:����$D�����������C+2���*3��l�������x1�$%��+%,*$%1Z�.��/�!#������ x6@6@6_6@6@6_6"6@6_6@6@6@6_6"6 " K

%�6(I E �*3�3<��� NZJY$%��+23�������������+2���*3<�4�������i1�$%�C+%,*$%1x!#/#����$.NK�.��/�!#�C���� 6_6@6@6_6"6@6_6@6@6@6_6"6 "D[

%�6(& F�$%+23:����$@)#��=k/���+2�������V!J�����E� 6@6_6@6@6_6"6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6_6@6@6@6_6"6\' "

%�6LK N5��������/�������� 6@6@6_6@6@6"6_6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6@6_6@6@6_6"6@6_6@6@6@6_6"6\'W%

] ������� ��	�� = � � 
2�7�e�8��� � !�^

� � .� _ � ���`�W
a 6���g��� 1 
2�7����� � �(����	�� � !�b

�



� �������	��
 �

� ��� � %.��� 
 �3	 %�� � � ��	.�����


R��/�1���$%�j���O�.������$%�.����^*$(&-�*�������L�*=l�.��/�!#��$%1]������������+2���*3<�@��+%^*$�+2����3�+*�.��$%1[�.��������1�$�3<+2)#��$'+2����$%� �������
��^*$�3_����$\�C+*����=W$�� 1�$%��+*1�$%��6��_��$@�*=G����$b����3����� �1�3���^R���� '=W�*3��.$b)J$%������1V����$T����/�1�,��5��/���1?)J$"+*�
�C� ��$�3�$%���5���()#�������* ��C��+*�#3��E,A����&-��� #2c "�� 6 BI�4���5�.��&-&'������,-��$�$%�X���#+2�4+\!J�*!#/���+2�������'�*=e+*/���������&-��/��
$%��$%&'$%� ���X)J$%��+%^*$%�V�.������$%�.����^*$%��,r+*��1t&-+2f*$P+O&-+*�.3������.�*!0���?3<� ,A����&xcl��/��<�t+*����$%+23���)J$%+2�����G' � c
�0+*�������� Zp�3�$��#��$%��� % � cm��,A���<��3�������/#�b��/� �+23'&'$���+2)J��������& �*=:,*$%+*���-�.$%���C���GI � 6O
�/����Q&-+*�.3������.�*!#���
3<� ,A����&-�U+23�$�=W�*3�&'$%1X����$%�X���*�m������,b=W3�$��A/�$%���.,T)#/��U+*�����������! �"4�*=7$%��$%&'$%�E���U+23�$D��,R������3������$#�$%176
E +*�E,-���� �����p0��+*� �G3�$%��/������G+2)J��/��U��/����X��,R������3������$#%+2�������-�#+%^*$D);$�$%�(�*)���+*����$%1-)E,-����/#1�,A�C�� j ����*)�N
+*�C��,��.��/�!#��$%1x�������C����+2���*3���c�� 6 $*6�c0+'!J�*!#/��C+2�������V�*=y������������+2���*3<�:�.��/�!#��$%1i����3���/� ��i+(&'$%+*�RN p�$%��1&%k��$�$
Y�$�=W�%6'�G&)(�* �+* N4�#+2!#��6 %P+*��10# " ����Y:$�= 6'� [��+* +*�#1]3�$�=W$�3�$%���.$%�\����$�3�$%���-,<6.�j��$(&-+%,L���#����fP ����*)#+*�
�.��/�!#������ V���j/���3�$%+*�����������26 MM���5$�^*$�3%c�����$�3�$-+*�.��/�+*����,i$.`R�C���_��,A����$%&-�_�������Z ����*)#+*�9�.��/�!#������ �c7��/#���
+*�U��!#+2����+*�C��,"$.`R��$%��1�$%1-�<��$%&-����+*�#�����������C+2���*3��G�.��/�!#��$%1T^A��+j�*!#�������G�*3G �+*�%c0/�����$�!#�������jq�/��#�.�������'+23�N
3<+%,R��c�+*��1V&\/�������&'�R1�$M��+*��$�3���69n5$%����1�$%��cR����$�3�$j�.��/#��1()J$j�.$�3���+*���V��+*��$%�l���#+2�5����$M ����*)0+*�;�.��/�!#������ 
�C�-+*�r+2!�!�3��*!�3���+2��$x+2!�!�3��%`���&-+2�������h�*=j������ L3<+*�� *$?���E��$�3�+*�.���������(���Q)#�������* *,*c4��/��<�r+*�	�0/��������� 
p#3�$��#��$%��cR,*$%+*���D�.$%�����l�.��&-&b/����C��+2������ '^R��+'+-�.��&-&'���Z&'$%1���/#&xcA+*�#1x����$"��$��I�U�*3�f��*=9��$%/�3�������6

F ��,R����$%& �������[ ����*)#+*�C��,]�.��/�!#��$%1O���������C��+2���*3���cG���[��!#����$X�*=D�����T����&'!#��$-=g�*3<& �*=D1�,R��+*&-����+*�
$��A/�+2�������#��c0����������3������i);$%�#+%^R���*3�$�^*$%�P��=y+*���7����$\������������+2���*3<�:+23�$\�C1�$%� ���C��+*�dc��d6 $*6�c#�*)J$�,V����$b��+*&'$
1�,A��+*&(����+*�e$��A/�+2�������#��6��_��$"�*=G����$b3�$%&-+23�f2+2)#��$\1#�����.��^*$�3�,i����$�3�$b�U��/#��1?)J$\����+2�_��1�$%�E������+*��1�, N
�#+*&-����+*�A$%��$%&'$%�E���G1��_���*�9��$%�.$%����+23�����,@)J$%��+�^*$:��1�$%�E������+*����,*621'63�DfR/�1�+D��+*�9���������T����+2�G��1�$%�E������+*�
������������+2���*3�����+*�i=W�*3�&B��$�^*$�3�+*������/�����$�3<�4$%+*���Z�*=>�M�������x�C�l!J$�3�=g$%�.����,(!#��+*��$.NK��,A�#����3����#�$#�$%14� #�5 � 6 B �
�C�M���E��$�3�$%�����C�� (����+2�j+-!J�*!#/#��+2�������i�*=G�C1�$%� ���C��+*�e$%��$%&-$%� ���j��+*/���$%�D+���!J��� ��+*��$���/#�M!0��+*��$\��$�!#+23�+wN
�������76 Y�$%�.$%� ����,*c7��/#���a+X���C/�����$�3����� -!#��$%����&-$%�����?��+*�D+*�.��/�+*����,i)J$�$%�i3�$�!J�*3���$%1Z$.`A!J$�3��C&'$%� ��+*�C��,
�C�x��!#+2����+*����,($.`R��$%��1�$%1i�<��$%&-����+*�7������������+2���*3����.��/�!#��$%1V ����*)0+*����,6� #D#2c # "�� 6

8:��$�3�$V���T+P!;$%��/#����+23"�I,E!J$V�*=M���C/�����$�3����� ?!#��$%����&'$%�����7cy�����C���Q��+*�bp�3����b)J$�$%�Q����/�1���$%1S)E,
)b6 MM+*����$%�7"�89�;:$< ���o+]!#+23����C��/���+23-����+*���(�*=_ ����*)#+*����,[�.��/�!0��$%1h!#��+*��$i�����������C+2���*3��=� #H' � 6 8:��$�,
�������5$%1]�A/�&'$�3�����+*�C��,V����+2�_����$-��,R����$%& ����������,?������������$%�j)#+*��fa+*��1P=g�*3����L+*&'���� x!#+*��3<���*=5�K�5�2N
���C/�����$�3�����+2��$%�%c#+*��1x$%+*�<�?���������������� T�C�:+*���.��&'!#+*����$%1x)E,V���E��3��� �/��C�� b�.���C��$%�.����^*$"1�,R��+*&-�C����698:�����

#



!0��$%����&'$%�����Q���T��+*����$%1  : ���  ��� 8�� � �	��
 6O8:��$V������� ���������������� Z!#��$%����&'$%�����[�4+*�'��� ��$�3�!�3�$���$%1
�C�O��$�3<&-�T�*=�����$x=W�*3�&-+2�������Q�*=M+a��$���$�3��R���������C�X���A�*!Q)J$��K�5$�$%�h����$V!#+*��3T�*=D�K�5�2NK����/�����$�3(����+2��$%��c
�M�������O�4+*�b��/�!�!J�*3���$%1])A,S+*���5�A/�&'$�3�����+*�U3�$%��/#�����@!�3�$%��$%� ��$%1[����$�3�$�%k��$�$ N4�#+2!Y6 " =W�*3T1�$���+*����� ,<6
FD��������/� ��@����$%��3ep#��1����� ��7+23�$U��&-!;�*3���+*� ��cw$.`A!0��+*��+2�������@�C�e�������C�*��$�$%1�$%1"+*�������M� ,j����$5��$���$�3��R�����������
���E�*!h+23�����$%�'����$�^R����+2)#��,]+*��1[!J$�3����C�����b3��*)#/�������,]+2 �+*�������'��/�3'�.��&-&-���h)J$%����$�=:���Q�����T����3�/#�.��/�3�+*�
�C������+2)#���C���K,*6

8:��$_!�3�$%��$%� �:����$%�����l���l�*3� �+*���$#�$%1i+*��=g������������69vL$")�3���$���,X3�$�^R��$�� ����$_�5�*3�fV�*=P)b6XMD+*����$%�'"�8
� : <5����/�1#��$%1V���;Y:$�= 6 � #H' � ��� Nl��+2!Y6 " =g�*3M+*�i���E��3��A1#/��.���������*=y����$@������� ���������<������ T!#��$%����&'$%�����76
B ��N4��+2!Y6/'Ac7�U$'������� +*��1a1�������/#���:����$T!#��$%����&'$%�����P���P+���$��K�5�*3�f?�*=m��$%/�3�+*��������������+2���*3<��6_nU,
�.���#����1�$�3��C�� @����$j����+2)#���C���K,T�*=e����/#����$�35����+2��$%�l+*��1X��,A&-&-$���3�,-!J������$%����$%1()A,'����$j&'�A1�$%�dcE�5$j+23� �/�$
���#+2�D+V��$���$�3��R�������#���@���A�*!?)J$��K�5$�$%�L+X!#+*��3��*=m�K�5�2NK����/�����$�3@����+2��$%�_+23<����$\�C��$�^A����+2)#��,x+*��1Z!;$�3<���������
3��*)#/�������,a���L����$(��,R����$%&x6V8:��$-!#�E,R������+*�G&'$%�<��+*������& �U$�1�$%���.3���);$T����$�3�$X1��A$%�"���*�\1�$�!J$%��1a���
����$"��+2��/�3�$"�*=>$%��$%&'$%� ���7%W!#��+*��$_������������+2���*3%c0����&-���4�.,R����$"�������C����+2���*3%c�$.`�������+2)#��$"$%��$%&'$%�E����c#���#+2�*�����
$%��$%&'$%� ���%c5$����26 ,B+*��1Q����$i�*3<�� ����Q�*=j�.��/�!#������ �� %k1��
�7/�����^*$V�.��/�!#���C�� �cm!#/#����$x�.��/�!#���C�� �cm1�$%��+�,*$%1
�.��/�!#������ �c#$����26 ,<6M8:��$\������� ���������������� '!#��$%����&'$%�����?+*�.��/�+*����,V+23<����$%���C�i^2+23�����/��M����+*����$%�M�*=G�.��/RN
!0��$%1a�����������C+2���*3@&'�A1�$%����c7�����C���L���_1�$%&-��������3�+2��$%1]�C� N4��+2!Y6/%�6'vL$(+*�����i+23� �/�$'����$�3�$(����+2�_����$
��$���$�3��A���C�������V���A�*!r���'$%+*���C��,S=W�*3�&'$%1r��$%+23(����$x)#��=W/�3<��+2�������Q!J����� �T����$�3�$x����$?����+2��$Z�*=M!J$�3�=W$%�.�
��,A���<��3����E,�������$%�:����+2)#�C�����K,*6U
�/����x)0��=W/�3���+2�������V��+*�i)J$@����1#/��.$%1�)E,�����&'$@1�$%�C+%,x���x�.��/�!#�C���� �6

"



� �������	��
 �

� 
 � ������� ��� �
	���
 ��� � � 
 ��� ��� ��� ���

���	��

�������
�����������	����
����������! "�#�$�&%� ����'�( )�!*+���',-�.�(/$�!�10325476�8



����� ���	��
 �

������������������������ ����!"��� #$�&%��'�
8���$�!J�*!#/��C+2�������(&'�R1�$%�#�U$j�.��������1�$�35���X�������U����+2!#��$�3:�.�������������U�*=�( ��1�$%� ������+*�0!#��+*��$����������C��+2���*3��
�M�����V ����*)#+*�Y�.��/�!#������ �cR ���^*$%�i)E,

))+*-,/. % * ,103254�6(
78
9;:=<?>

% ,/.A@B, 9 ,�C % " 6$#),

�M��$�3�$ ,/. % 5ED ,/.GF "IH ,(���X����$Z!0��+*��$P�*=@����$KJdN ��� ������������+2���*3 %LJM0 #IC " CONONON=C	( ,<c >
%LP ,(���

����$ � �RQ �-: � ��
�S;Q � ��8 � � � ������� "IH !J$�3����R1��������I,*c�2H���\+23�)#����3<+23�,L�.��������+*�E�b1�$%���*������ i����$����E��3��������C�
=W3�$��A/�$%���.,a�*=4$%+*���[���������C��+2���*3%c�+*�#1 6 ���@+23�)#����3�+23�,P!J����������^*$-�.���#����+*� �T1�$%���*���C�� i����$(�.��/�!#������ 
����3�$%�� *���76

vL$\+*����/#&'$_����$_=W���������M���� T!#+23�������/#��+23:�.��/�!#���C�� T=W/��#�.�������AT

>
%LP ,10 @ ���C� %LP�4 #IU " I ,=4 5VU " Iy����� % " P ,�U % " 6 " ,

FD/�&'$�3<����+*����,]���E��$� *3�+2������ L����$x+2);��^*$?&'�R1�$%�4/���1�$�3'���#������+*�m�.���#1������������%c9�U$x *$%��$�3<+*����,S�*)0��$�3�^*$
 : ���  ��� 8���� �	� 
 � �0" � �IW " � � � !�3���^R��1�$%1B(YX %�6(8:��$-�.������$%�.����^*$')J$%��+�^A���*3"�*=U����$X��,A����$%& ��+*�
�.���E^*$%����$%�E����,V)J$@1�$%���.3���);$%1V���V��$�3<&-�l�*=y����$_�*3�1�$�3�!#+23�+*&'$���$�3D1�$�p#��$%1V)A,

Z	% * ,10 #(
[[[[[[
78
9�:=<

$.`R! � J , 9 �
[[[[[[
U % " 6(' ,

B ���j^2+*��/�$'���9#b=g�*3_!J$�3�=W$%�.�@��,R������3���� ,P+*��1 5�=g�*3@/#��=g�*3<& 1#������3���)0/��������i�*=U����$'!#��+*��$%��6\Fs����&'$
��3<+*�.$X�*=l����$��*3�1�$�3\!#+23�+*&'$���$�3'���\1�����!0��+%,*$%1]�C�]\y�� �6 " 6$#26ZvL$���+*�Q��$�$�/���1�/#��+2�������L�*=l����$X�*3�N
1�$�3_!#+23�+*&'$���$�3_=W�*3@+x������ V����&'$T+2=W��$�3@�������<�P����$T!#+23�+*&'$���$�3"�.���E^*$�3� *$%�"���i+x����� ��3<��^A�C+*�e^2+*��/�$
�.���#����+*� �:�C�(����&-$*cR�C&'!#��,R���� _����+2�4����$j��,R����$%& �.���E^*$�3� *$%�l���'+T�.$�3���+*���V�.������$%�.����^*$_����+2��$_3��*��+2������ 
����$%+*1�����,*6_^>$%��/��C��+23"1�,R��+*&-�����_�C�_�*)#��$�3�^*$%1O/��E�����y����$(�.���E^*$�3� *$%���.$*6xFD�@$.`�����)#����$%1L�C�`\>�� �6 " 6 " c
����$@��������$_!J�*!#/#��+2�������7cR�����C���i��������������+*�C��,-1�������3<��)#/���$%1V+*��&'������/�����=W�*3�&-��,*cR��!#�������l���E���-�I�U����/�)�N
!J�*!#/#��+2����������c $%+*�����*=7�������<�(�.���E^*$�3� *$%�l+*��&'�����m���T+"!J�����E�m����/�����$�3%69F�=W��$�35����&'$M���C&'$*cA�����5$�^*$�3%c
���#���l��$�$%&-���� -�.��� ^*$�3� *$%�#�.$"��/�3��#�4��/��l���-)J$_/�������+2)#��$*cR+*�#1V����$@!#��+*��$.NK+*1�^w+*�#�.$%1i����/�����$�3:����+23����
���]����+2����$�3%6O8:��$%�7cm+2=W��$�3-����&'$V����&'$*cm+a *3���/�!Q�*=�����$x����+2����$�3�$%1r������������+2���*3<�b�.���E^*$�3� *$%�X+2 �+*���
+*�\���"�.��&'$%�\)J$%������1P����$(!�3�$�$.`����������� i���C/�����$�3%6 B �L���#���_�4+%,*cy����$-!�3�$�$.`R���������� i����/�����$�3@)J$%�.��&'$%�
+�!#�#+*��$.NK+*1�^2+*���.$%1a����/�����$�3%6@FM=W��$�3j����&'$T����&'$*c7+2 �+*���7c7�����C��!#�#+*��$.NK+*1�^2+*���.$%1L����/�����$�3j)J$� ������M���
����+2����$�3%cE+*��1T+j����&(����+23>!�3��R�.$%���>3�$�!J$%+2���9+2 �+*���'+*��1T+2 �+*���76�B �\�*����$�39�U�*3�1#��c*����$l��,R����$%& ���������<��$%�
)0+*��fa+*��1P=g�*3����P)J$��K�5$�$%�]+�!#+*��3j�*=U�K�5�2NK����/�����$�3"����+2��$%��6\8:��$\����&-$T�C� ��$�3�^2+*�y1�/�3��C�� (���#�����Z����$
��,A����$%& ���l��3<+2!�!J$%1i��$%+23��I�U�2NK���C/�����$�3j����+2��$%�j�����.3�$%+*��$%��$.`A!J����$%�E����+*����,(�������i����&'$*6lF4�M+-�.$�3���+*���
���C&'$*c������5$�^*$�3%c0����$"��,R����$%&B�.���E^*$�3� *$%�D���-����$@�*=>����$@�I�U�2NK���C/�����$�3M����+2��$%�M+*��1x�����*!#�����M���������C�� �6

%



0

0.5

1

0 500 1000 1500

or
de

r 
pa

ra
m

et
er

t

\y�� �/�3�$ " 6$#ITaF ����&'$i��3�+*�.$Z�*=j����$?�*3�1�$�3(!#+23�+*&-$���$�3%6 8���$?��,R����$%& �.��� ^*$�3� *$%�����[+]����$%+*1�����,
3��*��+2������ P�K�5�2NK����/�����$�3-����+2��$x+2=W��$�3-+Z������ Z��3<+*������$%�E��6P8���$(!#+23<+*&'$���$�3T^w+*��/�$%�\+23�$ 6 0 #�+*��1
( 0 #�5 5R658:��$_�*3�1�$�3�!#+23�+*&'$���$�3D���l��3�3�$%��$�^w+*�E�l���-����$@^2+*��/�$j�*=/2l6

10
650

700

750

t

0

2π

phase

0

0.5

number 
 density

\y�� �/�3�$ " 6 " Ti
������ ���������������� Z!#��$%����&'$%�����[^R��$��U$%1Q����3���/� ��[����$x�E/#&")J$�3'1�$%�������K,]�*=D����$V��� N
���C����+2���*3��'+*�-+a=k/����.�������Q�*=M����$x!0��+*��$*6h8:��$x!#+23<+*&'$���$�3-^2+*��/�$%�-+23�$G2 0 5VULK [ c 6 0 #2c4+*��1
( 0 #�5 5R6

I



��� � ����! � ����� ��� ! ��! ��������� ��� �V
3��� �1�	��� ����
 � ��! ���'� ! ��% ����� ���/����
A�
�
�1��������� �	�&� �

vL$O����/�1�,t����$L$.`R�C����$%���.$]+*��1�����+2)0�������I,r�*=b+Q�I�U�2NK���C/�����$�3Z����+2��$S���u�����C��� ����$L�K�5�o����/#����$�3��
�.���#�������:�*= (��P+*��1 ( % # @ � ,5�������C����+2���*3���658:��$@������������+2���*3�����������1�$D$%+*�<�Z���C/�����$�3�+23�$b�.��&'!#��$���$%��,
!0��+*��$.NK��,R������3������$#�$%176G8���$j!#��+*��$@1�� �;$�3�$%�#�.$D�*=y����$_�I�U�X����/�����$�3��l1�$%���*��$%1i)A,�� �C�l�.��������+*�E�M���
���C&'$*c�+*��1(����$D����/#����$�3��U3��*��+2��$@+2�l+\�.��������+*� �4=W3�$��E/�$%���.,*6U
R/��<��+b����$%+*1��C��,'3��*��+2������ b�K�5�2NK����/�����$�3
����+2��$\��+*�x)J$@1�$%���*��$%1i)E, %���C	� ,<6 B �i+T�I�U�2NK���C/�����$�3j����+2��$*c#����$_!0��+*��$@1��
�J$�3�$%���.$�� �*);$�,R�l=W3���&
� �#6 % " 6$#),

))+* � 0 6�� % " � @ #), >
% 53,�4 % # @ � , >

%�� , @ � >
% @ � ,	�+U % " 6G% ,


������.$�� ���>�.��������+*�E�9���b+M����$%+*1#����,_3��*��+2������ M�I�U�2NK����/#����$�3G����+2��$%��c��5$4�*)���+*���\����$53�$%��+2�������b)J$��K�5$�$%�
�P+*��1��Vc� ���^*$%�?)E,

� 0 >
% 53, @ >

%�� ,
" >
% 53, @ >

%�� , @ >
% @ � ,

U % " 6(I ,

� +23<����/�� %���C	� ,5$.`R�C���l�������x1�� �;$�3�$%�E�:��$������*=��Z+*�#1��V6
vL$'����$%�L����/�1�,?����$'����+2)#�������K,i�*=U����$T�K�5�2NK����/�����$�3"����+2��$%��69Nl+*����/���+2�������Z�*=U����+2)#�������I,?&-+2��3���`

�C�l3�+2����$�3��.��&-!#������+2��$%1x)0/��l����3�+*�� ��E��=g�*3��5+23�1Y6 � �� *$%�E^2+*��/�$%�l�*=>����$"����+2)0�������I,X&-+2��3���`�+23�$
��� 0 5VC % " 6(& ,
� < 0 6 � � >

! % 53, 4 % # @ � , >
! %�� ,	�+C % " 6LK ,

��" 0 6 � % # @ � , >
! % 53,�4#�

>
! % @ � ,	�+C % " 6(* ,

��$ 0 6 � % # @ � , >
! %�� , 4#�

>
! % @ � ,	�+C % " 6 [ ,

�M��$�3�$
>
! %LP ,�&'$%+*�#�4% )&%-) P ,

>
%LP ,<6B8:��$L&b/�������!#�C�������K,Q�*= � . %LJK0 5VCH#IC " C4' ,i+23�$0#2c (�� @ #2c

( % # @ � , @ #Z+*�#1V#2cl3�$%��!J$%�.����^*$%��,*6 � �i^2+*��������$%�-��1�$%�E������+*����,O)J$%��+*/���$?�*=_����$Z���E^2+23���+*���.$i�*=
� �#6 % 'A6$#H* ,_�M�����]3�$%��!;$%�.�"���P+*�O��1�$%�E������+*�G������=g�@�*=l+*���m����$(!0��+*��$%��6 � < +*��1 ��" �.�*3�3�$%��!;���#1]���
�0/��.��/�+2�������������V!#��+*��$"�*=�����$"�K�5�(���������C��+2���*3��:���#����1�$j����$@!0��+*��$.NK+*1�^2+*���.$%1i+*��1?!#��+*��$.N 3�$���+23�1�$%1
���C/�����$�3%c�3�$%��!;$%�.����^*$%��,*6 � $D�.�*3�3�$%��!J����1��4���(+	�#/��.��/�+2�������?���'�V6


R/�)#��������/������� � �062% " 6 " ,M���E��� � �#6 % " 6(I ,<c;�5$"�*)#��+*���i����$\3�$%��+2�������?)J$��K�5$�$%�(�L+*��1)�xc0���������
�C�G\>�� �6 " 6(' %k+3,<6Un5,x/������� b����$_3�$%��+2�������7c�����$_$%�� *$%� ^2+*��/�$%�:�*= %��=C	� ,4��+*�x)J$@��+*����/��C+2��$%17c��������<�x���
1#����!#��+�,*$%1T����\>�� �6 " 6(' %W)-,<69vL$:p#��1b����+2�G+*�C�E�*=;����$4�K�5�2NK����/�����$�3U����+2��$%�9���"�������<�\����$:��,A����$%& � � ��*
+ "-, 
 "  U+23�$@������$%+23���,-/�������+2)#��$*698:��$_��$�$%&-�C�� '�.��� ��3�+*1#���.�������x��$�3�$*c������5$�^*$�3%c#��+*�V)J$_��� ��$�3�!�3�$���$%1
�C�-��$�3�&-�5�*=7����$D=W�*3�&-+2�������X�*=Y��$���$�3��R���������C�:���A�*!#�G)J$��K�5$�$%��!#+*��3��U�*=7����$D�K�5�2NK����/�����$�3l����+2��$%�%6GvL$
1�$%���*��$'��/����P+�!#+*��3M)E,&%��=C	� ,M+*��1 %��=C	� ! ,l�������#�/. 5�+*��10� ! F 5R621M��1�$�3M����$T+*����/#&'!��������

&



0

0.5

1

−π 0 π

p

∆

(a)

(p,∆)

−0.5

0

0.5

1

0 π

ei
ge

nv
al

ue
s

∆

(b)

λ1
λ2
λ3

\y�� �/�3�$ " 6(' T98:��$l$.`�������$%���.$�+*�#1-����+2)#���C���K,b�.����1����������T�*=;����$:�I�U�2NK���C/�����$�3U����+2��$%��6 %k+3, 8:��$:3�$%��+2�������
)J$��I�U$�$%� �t+*��1 � �C�Q����$i�K�5�2NK����/�����$�3�����+2��$*6 %W)-, 8:��$x$%�� *$%� ^2+*��/�$%�'�*=j����$x�I�U�2NK���C/�����$�3V����+2��$
!0���*����$%1i+*��+-=W/��#�.�������V�*= �x6

K



�*=9����$"$.`�������$%���.$\�*=y+X��$���$�3��R���������C�_���E�*!Z)J$��K�5$�$%� %���C	� ,l+*��1 %���C	� ! ,<c#����$b��+*�?^*$�3<��=g,V����+2�M����$
��$���$�3��A���C�������j���A�*!i��� � 8 8 , � �)8 �	��
 ��=

��� ��" � ! <� < � ! " . #IC % " 6$#�53,

�M��$�3�$ � . +*�#1 � !. %LJ"0 #IC " ,D+23�$b����$T$%�� *$%�E^w+*��/�$%�M�*=�%���C	� ,M+*��1 %���C	� ! ,<c73�$%��!J$%�.����^*$%��,*6 B �P����+2�
��+*��$*c0+'��3�+�q�$%�.���*3�,i&'��^*$%�M+*������ '����$"��$���$�3��A�����C�����D���E�*!Z+*��1i�.��&'$%�����()J$_��������$�3����(����$%��$@p�`R$%1
!J�����E����64F�=W��$�3 "�� ���������<������ 6%k�d6 $*6�c � �.,R����$%� ,<c;����$@���C&'$\��!J$%�E��+23���/��#1x����$"p�`A$%1?!;���C� �:+*��1?����$
1#������+*���.$_���(���l�������;)J$

���	�
� � � � C % " 6$#D#),

� ��� ��
��� U % " 6$# " ,
B �]�A/�&'$�3��C��+*�G���E��$� *3�+2����������c � �  *�E$%�\��� #�$�3��P���]+xp#�#����$'����&'$-1�/�$'���?����$-3���/���1RN � �Q$�3�3��*3%c>���
���#+2�:����$"��,R����$%&B�.���E^*$�3� *$%�M���(����$_�*=y����$_p�`A$%1x!J�����E��6

����� � ����! # �	� � ����%���
 ��#$! ���K��� ���
�
vu��$%�t����$?��,R����$%& ���(1#������/�3�)J$%1Q)A,h��&-+*���:��������$*cl���������<������ S);$��I�U$�$%� +]!0+*��3-�*=_�K�5�2NK����/�����$�3
����+2��$%���R����/�3��:+*�C&'�����l!J$�3����R1�����+*����,*6>8��-1�$%&'��������3�+2��$"����c��5$_ *$%��$�3�+*�C�$#�$@����$@&'�R1�$%�Y+*�:=g�����������OT

))+* ,/. % * ,103254�6(
78
9;:=<?>

% ,/.A@B, 9 , 4���� . % * ,�C % " 6$#H' ,

�M��$�3�$�� . % * ,9���G+��_+*/�������+*�-��������$:�����C��$:�������-����$:^2+23���+*���.$�#2cR+*��1	�Z���G+@�.���#����+*� �41�$%���*���C�� _����$
�C� ��$%�������K,��*=�����$"��������$*6G8���$@�.��/�!#���C�� \=k/����.�������

>
���l ���^*$%�x)E, � �06 % " 6 " ,���$�3�$@+*������61\y�� �/�3�$ " 6G%

1#����!#��+�,A�9+@����&'$l��3�+*�.$:�*=J����$��*3�1�$�3G!#+23<+*&'$���$�3m=W�*3G����$���������,\��,A����$%&i6y8���$ �#+2�m+*��1(1�$%���.$%��1�$%�E�
!0+23����-�*=j����$i�*3<1�$�3-!#+23�+*&-$���$�3X3�$%��!;$%�.����^*$%��,[�C��1�����+2��$x����$?!;$�3<���A1#�'���Q�������<�h$%+*��� ����/�����$�3(���
+*�C&'�����M+X!J�����E������/�����$�3D+*��1Z����$"�*=9����$b����/�����$�3<�M���M����+2����$�3����� �6 \��*3_��/��<�Z+X��������,x��,R����$%&xc;����$
���C&'$@���l��+2f*$"=W�*3:����$\��,A����$%& ���-!J$�3�=W�*3�& +-�.,R����$@�*=y���������<������ '���l$%������&-+2��$%1i+2�

��� @ � #
� < 4

#
� ! "�� �C����U % " 6$# % ,

8���$:^2+*��/�$:�*=J����$D�����*!J$l�*)�������$%1X���G���- *�E�R1(+2 *3�$�$%&-$%� �4�������-����$������*!J$:�*)#��+*����$%1'=W3���& \y�� �6 " 6(IA6

*



0

0.5

1

0 500 1000 1500

or
de

r 
pa

ra
m

et
er

t

\y�� �/�3�$ " 6G% TUF ����&'$_��3�+*�.$"�*=>����$_�*3�1�$�3:!#+23<+*&'$���$�3M/��#1�$�3l�U$%+2fx�����C��$ %��50 #�5����),<6

60

80

100

120

140

160

180

200

220

-30 -25 -20 -15 -10

T

ln σ

\>�� �/�3�$ " 6(I T�^>$�3����R1 � �*=y+-�.,R����$@^*$�3���/��:�����y6m8���$_������$_���:+'�C����$%+23lp��������� '�*=�����$\1�+2��$*6

[



� �������	��
 �

� ����� � 
 ��	!�1��%.�$	!��� ��� ����� �#%�� �  �� �����#�$	!��%& 

� �
	.
 	 ���#�"� ��� � � �t ��� � ��� � ����� �



� ��� �?� � 
A� %(��� �A�	� �
B �M�#+*��)J$�$%�i!J�����E��$%1i��/�������+2�j�.������$%�.����^*$b&'�*�������Z�*=G��$%/�3����#�����?����$")�3<+*���i���M�.3�/�����+*�e���X����=W�*3�N
&(+2�������S!#3��A�.$%�������� P+*��1S��3<+*����&-����������� %k��$�$*c9$*6  �66Y�$�=I6 � # % � ,<6 B �O����$X)#3�+*���7c>����$V��$%/�3������\+23�$
$.`�����/�����^*$%��,a�.��/�!#��$%1a����3���/� ��]����$%&-����+*�m��,A��+2!0��$%��c�� 6 $*6�ce����$(��$%/�3������@�.��&(&\/��#����+2��$-)A,P!0/�����$%�
�*=>��3�+*����&-������$�3 � #HI � 6 N4��$%&-����+*�7��,A��+2!0��$%�l�.��&-&'������,X=W�*3�& 1�$%����$@+*��1x�.��&'!#��$.`x��$��I�U�*3�fR��6 \��*3
&(+2����$%&-+2������+*��&'�R1�$%���C�� M�*=;��$%/�3����#+*�E��$��I�U�*3�fA��cA����&'�* *$%��$���/#�9+*��� N ���2NK+*��� %k�d6 $*6> ����*)#+*� ,e�.��/�!#������ 
�C�_�*=g��$%�O+*1��*!���$%176�FM��������/� ��L����$( ����*)#+*�G�.��/�!0������ x&-+�,P)J$-+i�C��������$'���A�?��1�$%+*���C�������2cY����$X�.�*3�3�$.N
��!;���#1����� V��$��K�5�*3�fR�\����+23�$-+i���*�"�*=5!#3��*!J$�3�����$%�_���L�.��&-&-���]�������L��,A����$%&(�@�������S�.��&'!#��$.`L+*��1
1�$%����$@��$��I�U�*3�fR��6

B �P�������j�<��+2!���$�3%c7�5$'�.��������1�$�3_+�!J�*!#/���+2�������i�*=U��$%/�3�+*��������������+2���*3<�M�M�����Z1�$%��+%,*$%17cY+*�C� N ���2NK+*���
!0/�����$.NK�.��/�!0������ �6'8:��$(������������+2���*3"�U$(/#��$-���@��+*����$%1L����$(��$%+2fA,L���E��$� *3�+2��$.NK+*��1RN p�3�$6%7J B \ ,j&'�R1�$%�d6
8���$�3�$L+23�$]+h��+23� *$L+*&'��/#� �x�*=b!#+2!J$�3��V�.�����.$�3����C�� J B \s��� !#�E,R�������V+*��1���$%/�3���������$%���.$*cD$*6  �6
��$�$ � #H&)(/#H* � 6'8:�����D���j)J$%��+*/���$9J�B \u���j+.�A/�����$'����&'!0��$\&'�R1�$%�dcY���������>���_��+2!���/�3�$%�@����&'$'$%����$%�E����+*�
�<��+23�+*�.��$�3��C���������:�*=y��$%/�3�����+*�71�,R��+*&-������c��d6 $*6�c0���l3�$�!�3�$%��$%� ���:+*�?��� ��$� *3<+2���*3��������V3�$%��+w`R+2�������7c�+*��1
3�$%��$����'+2=g��$�3-���\p�3�$%��6]FM��������/� ��[��/�3T!J�*!#/���+2�������O&'�R1�$%�4���\�.��&(&'������,S/#��$%17c %k��$�$*cm$*6  �6 � # [�� ,<c
�����'�.������$%�.����^*$i1�,R��+*&-�C���b1��E$%�'���*�-��$�$%& ���]��+%^*$?);$�$%�Q����/#1���$%1Q���]��+23�$�=k/�����,*6OvL$i�����C�m�������
���#+2��^2+23�����/#�XfR����1t�*="����/#����$�3x����+2��$%�i+23�����$P��� ��/�3x&'�R1�$%�dcM+*��1u1�������/����(����$a������� ���������<������ 
!0��$%����&'$%�����x�C�V!#+23�������/��C+23%6

� � � � � %����
8���$'!J�*!#/���+2�������P&'�R1�$%�y�5$-�.��������1�$�3@�.���#���������_�*= ( ��1�$%�E������+*�>$%��$%&'$%�E���@�������a1�$%�C+%,*$%17c>+*��� N ���2N
+*�C�l!#/�����$.NK�.��/�!#������ �6[8:��$?1�,R��+*&-�����T�*=j$%+*���o$%��$%&'$%�E���(���(1�$%���.3���)J$%1Q)A,[+S������ ���$x^2+23���+2)0��$�� .%LJ 0 #IC " COUOUOU-C	(�,G�������<�X�.�*3�3�$%��!J����1��U���\����$j&-$%&")�3<+*��$�!J�*��$%�E����+*�;�*=e+\��$%/�3����7698:��$M$��E/#+2�������
=W�*3�� . ���4 ���^*$%�?)E,))+* � . % * , 0�� @ � . 4 6( %�� @ � . ,
	 % * ,�U % 'A6$#),
8���$\!0+23�+*&'$���$�3��i���M����$'���2NK��+*����$%1Z3�$%�������� �!J�*��$%� ����+*�����V�������<��� . 3�$%��+w`R$%�M�M��$%�P����$b�.��/�!#������ 
�C�\+2)#��$%� ��6 B �b���T+*����/�&'$%1O����+2�\�M��$%�
� . 3�$%+*����$%�'+Z����3�$%��������1O^w+*��/�$(�����C���[���\��$��\��� #2cm���b���
�C������+*�E��+*��$���/�����,�3�$%��$������	#�$�3���6U8������4$�^*$%�E�M���l���E��$�3�!�3�$���$%1i+*��+-��!#��fR���� �cR�*3:p�3��C�� �cR$�^*$%� ��648:��$
1�,A��+*&(���������M���A/��M��+*�C��$%1 J�B \56;v ��$%�P+���$%/�3����Z��!#��f*$%��cJ���M$%&-�����D+(!#/#����$_�����4+23�1a$%+*�<�P��$%/�3����
�.��/�!#��$%1\���j����c2+*�#1\����$5��+2����$�3y3�$%�.$%��^*$%�y����$U!0/�����$U�������b����&'$41�$%��+%,\��+*����$%1b+D��,A��+2!#�����m1�$%�C+%,*698:��$
�.��/�!#������ @�C�m+*����/#&'$%1-���\);$M����&'�* *$%��$���/��5+*��1X+*��� N ���2NK+*���dcA���"���#+2�U�����m$ �;$%�.�4��+*�()J$:3�$�!�3�$%��$%�E��$%1
)A,�����$@ ����*)#+*�Y^w+23��C+2)#��$�	-c� ���^*$%�x)E,

	 % * ,10 78
9;:=<
8
�����������

� % * @ * �����������9 @��
,�U % 'A6 " ,

#D#



MM$�3�$*c * �����������9 3�$�!�3�$%��$%�E���y+M��$�3<��$%�>�*=�����&'$%�>+2�y�������<�"����$��2N ���T��$%/�3����\��!#��f*$%�>+*��1��
�����������

1�$%���*��$%�
+a��/#&-&-+2�������O��^*$�3-����$���$�3<��$%�b�*=M��/��<�Q��!#��f*$%� *

�
�C�"����$x��,R��+2!����C�X1�$%�C+%,*cm+*��1 � % * ,\���b+ � Q :  �"

S;Q � ��8 � � � c# ���^*$%�x)A,
� % * ,10 ���� @ � % � ���
	 @ � ���
	 ,�� % * ,�C % 'A6(' ,

�M��$�3�$�� % * ,D���_����$ MM$%+%^R�����C1�$'=W/#���.������� * � +*��1 � +23�$(�.��������+*� ���\��+2������=W,A�C�� � . � 6 � � < +*��1
� � <  ���^*$j����+23<+*�.��$�3����������D����&-$M����+*��$%�5�*=Y����$M!#/#����$:=k/����.�������Y6PB �X����$D�C��&-��� ����� c � % * ,G)J$%�.��&'$%�
� " * � ���
	�cR�������<�X�C�5��+*�C��$%1�����$_+*��!#��+"=W/��#�.������� � #HI � 6 ���C�U��+*����$%1X����$D3�$�^*$�3���+*�;!J�*��$%� ����+*�;���'���#�����
� . 3�$%��+w`R$%�:�M��$%� 	 % * ,l���:!;����������^*$*c��d6 $*6G�M������$j����$"��$%/�3����x3�$%�.$%��^*$%�:����$@!0/�����$%��6 6 ����+'!J����������^*$
�.���#����+*� �Z����+23�+*�.��$�3<�$#%���� h����$]����3�$%�� *���u�*=b����$]�.��/�!#���C�� �6 8:��$L�.��/�!0������ Q+*����/�&-$%1�+2);��^*$]���
�<��+23�+*�.��$�3��C�������M���"����$D��,A�#+2!������:�.��/�!0������ �6y8:��$��.��/�!#������ _)J$%�.��&'$%�U$.`�������+2���*3�,=% � ^5
V^ ,9��= � . #2c
+*�#1i��������)#�����*3�, %�B ^5
V^ ,5��= � D�5R6

BI= � D #2c-J�B \S);$%�.��&-$%�l+*�X$.`�������+2)#��$D��$%/�3����7cA��������$M��= ��. #2c����U3�$�!;$%+2���4!J$�3����A1��C�l��!#��fR���� ���c
�#+*&'$%��,*c����43�$�!�3�$%��$%� ���l+T��$%/�3<+*�#�������C����+2���*3%69vL$@+*����/�&'$�� .V#D��$�3�$%+2=g��$�3�6m8:��$%�7cA�5$@��+*�x1�$�p#��$
+b^2+23���+2)#��$M^2+23�,R���� T��&'�A�*������,-�������X���C&'$*cR�������<�X��/�3����U��/��l/���$�=k/��J���(����$D=W�������������� T1�������/����������Y6
vL$b1�$�p#��$�����$ � ���! �"l�*=y����$�JdN ���Z��$%/�3����x+*�

,/. 0������� ) �
� @ �

0u�C�
� �
� @ � . � U % 'A6G% ,

�M�������V^2+23���$%�:);$��I�U$�$%�=5-+*��1x����$@��� ��3<���������M!J$�3����R1��*=��������C����+2������� � c# ���^*$%�x)A,
� 0u���

� �
� @ # � U % 'A6(I ,

FM�*��$"���#+2� ,/. ��+2���C��p�$%� ) , . %-) * 0 #@���V����$@+2)#��$%���.$@�*=9�.��/�!#���C�� �6

� ��� � ��#$��
 ��� ! ��
A�1� ��� ���
n5,[�E/�&-$�3�����+*����,L���E��$� *3�+2������ P��/�3T&-�A1�$%�4/��#1�$�3\3<+*��1���& 1�������3���)#/��������L�*= � . cG�5$Vp#��1O^w+23<����/��
�I,E!J$%�V�*=T�.������$%�.����^*$a)J$%��+�^A���*3�6sFD&'���� Q����$%&xcD�U$]+23�$P!0+23�������/���+23<��,r���E��$�3�$%����$%1���� ����$]�������
�����������#���� "!0��$%����&'$%�����YcE���#������+*�.��/�+*����,(�A����/�3<�U�M��$%� � . �-+*��1 ( X0%.%k��$�$ Nl��+2!Y6 " =W�*34����$
$.`R!#��+*�#+2�������x�*=>����$@!#��$%����&'$%������,<6

8:��$]������� ���������<������ [!#��$%����&'$%�����u�R����/�3��x����������� +Q)�3���+*1�3�+*�� *$L�*=\!#+23<+*&'$���$�3i^2+*��/�$%�
!#3���^R��1�$%1X����+2� 6 �C�5��&-+*���;+*��1�����$j����&'$j�.��������+*�E��� � � < C � � < +*��1 � +23�$_��&-+*�C�0�.��&'!0+23�$%1V�������� 61\��*3l��+23� *$�3 � � < C � � < +*��1 � cA����$D������������������������ "!#��$%����&'$%�����-)J$%�.��&'$%�4��$%���U!#3��*)#+2)#��$*cA+*��1
����$\+2!�!J$%+23�+*���.$"�*=G����$%+*1�,i&b/������ NK����/#����$�3�����+2��$%�D)J$%�.��&'$%��&-�*3�$"!�3��*)#+2)#��$@���#����$%+*176"\��*3�� F �0c
�5$�p#��1]���Z�K�5�2NK����/�����$�3'����+2��$%�'�C� ^*����^R���� i������� ���������<������ �c>�����C��$-����$%+*1�,S&b/�������NK����/�����$�3"����+2��$%�
+23�$@�*)#��$�3�^*$%1?���x&'��������+*��$%��6UF 1�$���+*����$%1i!#��+*��$@1��C+2 *3�+*& �����C�#)J$_!�3�$%��$%� ��$%1i�C��� 'A6LKE6

# "



� ��� � �1!���� � ����������� ����# � �
�_/�3_&'�A1�$%�� ���^*$%�a)E, � �06 % 'A6$#),j���D3�$%��+2����^*$%��,?����&'!0��$*c7���������>���j���_���*�j$%+*��,P���x *$��@����&'$-�������� �� �
�C� ���x�����D�.������$%�.����^*$'1�,R��+*&-�C���M+*��+*��,E������+*�C��,*6�\��*3���/���+2��$%��,*ce�����5$�^*$�3%cY��/�3j&(+*���?3�$%��/������M ���^*$%�L���
� 'A6('P1��P���*�T����+*�� *$��A/�+*������+2����^*$%��,]���]����$X�U$%+2fO�.��/�!#������ ?����&-����c��d6 $*6 6 � 5R6 B �O�������\����&-����c
��/�3M&'�R1�$%�7���l3�$%1�/��.$%1i���X+(&b/����Z����&'!#��$�35=W�*3�& �������x���#�����V�5$\��+*�Z����/�1�,�����$@$.`�������$%���.$b+*��1
����+2)#�������I,'�*=e^2+23�����/��4����/#����$�3l����+2��$%�:+*��+*��,A������+*����,*6�)D$�3���^w+2���������*=�����$j3�$%1�/��.$%1V&'�R1�$%�J���U ���^*$%�x+*�
=W������������6


R/�)#��������/������� � . 0�� % # @ � ��� � ,4�C� ��� � �#6 % 'A6$#),<c0�U$"�*)���+*���
))+*-,/. % * ,10 #'4 6(

78
9;:=<
8
�����������

� % ,/. , � % * @ * � ���������9 @��
,�C % 'A6(& ,

�M��$�3�$

� % , . , 0 � @ �
� � � � 4 #IU % 'A6LK ,

B �'���T�.��� ^*$%�#��$%� �-�C�S����$V=W�������������� P��+*����/���+2�������[���L3�$%1�$�p#��$ � +*�'+ � N !J$�3����R1����'=k/����.�������7cG�d6 $*6
� % ,/. 4 ��� , 0 � % ,/. , % � 0	�9#IC
� " CONONON ,<6 FM�*��$b����+2�M��/#1�1�$%�i1�3��*!?�*= � % ,/. ,:+2� ,/. 0 5(���M1�/�$
���x����$b3</���$"$%&-!#����,*$%1S���?��/�3@&'�A1�$%�dc;� 6 $*6�cY����$'&'$%&\)�3�+*��$b!J�*��$%� ����+*�9�C�M3�$%��$��_��������+*�E��+*��$���/�����,
+2� � . 0�5R6mvL$"+*�����(1�$�p#��$_+'3�$%���C1�/�+*�;!#��+*��$�� . )A,

� . 0 ,/.�@ * U % 'A6(* ,

�/�)#��������/������� � �06 % 'A6(* ,l���E��� � �06 % 'A6(& ,<c;�U$_�*)���+*�C�

))+* � . % * ,10 6(
78
9;:=<
8
�����������

� %�� . 4 * , � % * @ * � ���������9 @
�
,�U % 'A6 [ ,

vL$x����� +*����/�&'$X����+2� 6 ���b��/�
(����$%� ����,L��&(+*���m���P����+2�T����$�3%6 �76 �\�*= � �06'% 'A6 [ ,b�C�\��/�
(����$%�E����,
��&-+*����$�3:���#+*�?����$\��� ��3<���������D=W3�$��A/�$%���., � � < 6l8:������+*������� /��:����&-+2f*$T+%^*$�3�+2 ����� X�*=y����$\3%6 �76 �:�*=
� �#6 % 'A6 [ ,9��^*$�35����$l!J$�3����R1 � 6>8���$ #�$�3��*���-�*3<1�$�3G+2!�!�3���`R�C&-+2�������T�������T3�$%��!J$%�.�9���@����$:��&-+*�C����$%���
�*= 6 c������C���x�.�*3�3�$%��!;���#1��4���-����$@=W3�$�$_�������C����+2���������4�*=>����$@������������+2���*3��%c����4 ���^*$%�x)A,

� . % * ,10��.�������OU % 'A6$#�53,
+*�#1

* � ���������9 0 * 9 @ ��� C % � 0�5VCH#IC " COUOUOU ,�C % 'A6$#D#),
�M��$�3�$ * 9 �C�7����$m��+2��$%���e����&'$U+2�����#�����_����$ �2N ���b��$%/�3����\��!#��f*$%�%6�B �_����$mp#3����7�*3�1�$�3>+2!�!�3���`R�C&-+2�������7c
�5$\&(+%,x����&'$.NK+�^*$�3�+2 *$ � �062% 'A6 [ ,:��^*$�3j����$\3�+*�� *$")J$��I�U$�$%� * @ � +*�#1 * /������� � �A��6 % 'A6$#�53,M+*��1

#H'



% 'A6$#D#),�T
))+* � . % * , 0 6(

78
9;:=<

#� � 		 ��� �8� : � � %�� . % * ,A4 � , � % � @ * 9 4 ��� @ � , )&� % 'A6$# " ,

0 6(
78
9;:=<

#� � �
� � %�� . % * , 4 * 9 4 � 4 � ! , � % � ! , )&� ! % 'A6$#H' ,

0 6 � 4 6 %�� @ �0,( �
78
9;:=< >

� � . % * , 4 * 9 4 ��� C % 'A6$# % ,

�M��$�3�$

>
%LP ,10 ���� @ �

��� �
	 � %LP , @ � ��	 � %LP ,��?C % 'A6$#HI ,

� �
	 � %LP , 0 #� � �
� $.`R! �$%LP 4 � ,4&-�A1 � � $.`R!2� @ � � � )&�

0 % � � @ #),E$.`A! � � %LPa&'�R1 � , � @ % � �
� @ #),E$.`R!2� Pa&'�A1 � �� % # @ � , % � �
� @ #), U % 'A6$#H& ,
FM�*��$a����+2�

>
%LP ,-����+ � N !J$�3����R1����x=k/����.�������Y6E\y�� �/�3�$ 'A6$#a������/�����3�+2��$%�(+O�K,A!#����+*�j����+2!J$Z�*=@����$

�.��/�!#������ T=k/����.�������V ���^*$%�x)E, � �06 % 'A6$#HI ,<6 \�/�3�����$�3�&'�*3�$*c�/������� T����$"��1�$%� �����I,
� 9 % * 9 ,10 , 9 % * 9 , @ * 9 0 @ * 9 C % 'A6$#8K ,

+*�#1t����$=#�$�3��*���u�*3<1�$�3x+2!�!�3���`R��&(+2������� � 9 % * 9 , 0 � 9 % * ,<c��5$P&(+%,o3�$�!#��+*�.$ * 9 )A, @ � 9 % * ,X���� �#6 % 'A6$# % ,����V����$"p�3����4�*3�1�$�3M+2!�!�3���`R��&(+2�������76G8:�A/���cR�5$@p#��+*����,(�*)���+*���
))+* ,/. % * ,103254 6

!
(
78
9�:=<?>

� ,/. % * , @`, 9 % * , 4 ��� C % 'A6$#H* ,

�M��$�3�$ 230 #"4 6 % � +*��1 6 ! 0 6 %�� @ � , % �#6 � �A/�+2��������% 'A6$#H* ,_���D����$'����+*�#1�+23�1P=g�*3<& �*=U����$
!0��+*��$T&'�A1�$%�d6 FM�*��$T����+2�j����$b$�3�3��*3_���E^*����^*$%1a��� � �#6 % 'A6$#D#),D&-+�,Z���A�*fi���x1���^*$�3� *$T+*� � ��� c
��������������$\p0��+*�>$�3�3��*3j^w+*�#������$%�D���Z����$Tp�3����D�*3�1�$�3_+2!�!�3��%`���&-+2�������a1�/�$\���x����$'1�$%��+%,Z�*= � % * ,<6 B �
�C�l3�$%&-+23�f2+2)#��$_���#+2�:����$@3�$%1#/��.$%1i&'�R1�$%�7���l=W3�$�$@=W3���&B&-$%&'�*3�,V$ �;$%�.���%c0+*��1x����$@$ �;$%�.�M�*=91�$%��+%,
�#+*�@)J$�$%�S���C&'!#��,P�.��� ^*$�3���$%1[���P+i!#��+*��$(������=W�@���L����$X�.��/�!#�C���� x=k/����.�������76�FM�b���������]��� � %�6G%�c
����&-����+234=W�*3�& �*=y����$_!#��+*��$@&'�A1�$%�7���4 *$%��$�3�+*����,(�*)���+*����$%1i���V1�$%��+�,*$%1?�.��/�!#��$%1V������������+2���*3<�4����$%�
����$"�.��/�!#���C�� b�C�:��/�
(����$%� ����,X�U$%+2f;6

8:��$:!#�#+*��$�&'�R1�$%�� ���^*$%�X��� � �#6�% 'A6$#H* ,U���m��� ^2+23���+*�E�G/���1�$�3m+@�.��������+*�E�5!#��+*��$�������=W�9�*=J+*�C������$
!0��+*��$%��c����j����+2�9����$41�,A��+*&(�����>�*=#����$l&'$%+*�T!#�#+*��$ %k�d6 $*6�c�����$l�.$%�E��$�3G�*=0&-+*��� ,>��+*�T)J$51�$%�.��/�!#��$%176
vL$\�������;�� ����*3�$_����$"1�$� *3�$�$"�*=>=W3�$�$%1���& +*�����R����+2��$%1i�������V�������l1�,R��+*&-�����l��$�3�$%+2=g��$�3�6

B &'!J�*3���+*�E�(!0+23�+*&'$���$�3����*=@��/�3�!#��+*��$Z&'�R1�$%�: ���^*$%�t)A, � �06�% 'A6$#H* ,-�M����� � �#6�% 'A6$#HI ,�+23�$� C � C � C � +*��1[����$x���� ��[�*= 6 ! %k�d6 $*6S����$x���� ��O�*= � @ � ,<6O8:��$X3�$%+*�����r���b����$V=g���C�������C�� �6LvL$
# %



&(+%,P��+2f*$�� 6 ! �?0 #T)E,Z!�3��*!J$�3���,x3�$%����+*������ ��*= * +*��1K2lc7��������$b�����j���� ��P�C�D�.3</�����+*�>)J$%��+*/���$T����$
���A��+*�y����+2)#�C�����K,?�*=U+*�E,Z������/��������Z1�$�!;$%�#1������L����6 2t ���^*$%�j����$T=g3�$��A/�$%���.,Z�*=U����$%+*1�,?3��*��+2�������a�*=
����$M��������$D��,A����$%&icA�M�����������5��3�3�$%��$�^w+*�E�m���'�.������$%�.����^*$j1�,A��+*&(������6 �  ���^*$%�4+b�<��+23�+*�.��$�3��C�������D����&'$
����+*��$��*=J��/�35&'�A1�$%�dc������C���-��+*�X)J$:��������$%��+*�5+*�(����1�$�!;$%�#1�$%� �y!#+23<+*&'$���$�3U)A,T�������<� �b)J$%�.��&'$%�
1�$�!;$%�#1�$%� �M����3���/� �� � �06 % 'A6(I ,<6 B �D�C�:3�$%&-+23�fw+2)#��$"����+2�D��/�3j�.��/�!#������ -=W/#���.�������?�C�M���#1�$�!J$%��1�$%�E�
�*= ��6�B �P=W+*�.��c>����+*�� *$-�C� �\��+*/���$%�"���.�E/�+*�C����+2����^*$'����+*�� *$(���Z��/�3_3�$%��/����D+*�_=k+23@+*�j����$-���� ��Z�*=
� @ �V3�$%&-+*�C���:����$b��+*&'$*6 \�/�3�����$�3<&'�*3�$*c;$�^*$%�Z��=9�5$"3�$�!#��+*�.$"����$\��$�3�& � @ � . )A,i+��.��������+*�E���
�C� � �06 % 'A6$#),<c0�d6 $*6�c

))+* � . % * , 0�� @ � . 4 6
�( 	�% * ,�C % 'A6$# [ ,

����$%�t�5$a��+*�u3�$%1�/��.$Z��������&'�A1�$%�M���C&-����+23���,[+*��1t�*)���+*��� ����$a��+*&'$a�.��/�!#�C���� S=k/����.�������o+*�x���
� �#6 % 'A6$#HI ,<c5�����C���Q���T+a����������$���/�3�!�3<�������� x3�$%��/�����6LvL$x��+�^*$i����$%��f*$%1r����+2� � �06 % 'A6$# [ ,T+*�.��/�+*����,
3�$�!�3��R1�/��.$%� �E/�+*�C����+2����^*$%��,x����$T��+*&'$T3�$%��/������D+*�M��������$T ���^*$%�a��� � 'A6('A6 B �P����+2�_��+*��$*cY��$� �+2����^*$��
�.�*3�3�$%��!J����1��U���T����$D��+*��$ � F �-��� � �06 % 'A6$#),<6
B ������$D=g���C�������C�� \��$%�.����������cR�U$j+*����/#&'$ � . �-+*��1
� � � /�����$%���5����+2��$%1i�*����$�3��M����$*6
� ��� � 
 �
� � �
�1������! ����
 �����?���'#
B �x�����C�:��$%�.�������7c0�U$b����/�1�,V+'�I�U�2N �������C����+2���*3_��,R����$%&xc#�d6 $*6 ($0 " 64FD��������/� ��x����$@�K�5�2N �����������C+2���*3
��,A����$%& �C�D���*�j1#��3�$%�.����,i3�$%��+2��$%1a���x����$'&-+*���a��/�)�q $%�.�D�*=m����$'!#3�$%��$%�E�j�<��+2!���$�3%c7����$-&-+%,P��$%+23��
����&'$')#+*�����b!�3��*!;$�3�����$%���*=5��/�3_!#�#+*��$'&'�A1�$%��=W3���& �����C�D����&'!#��$T��+*��$*69)D$�p#������ � 0 , < @], " c
�5$@�*)���+*�C�

) �) * 0 6
!
"
�
>
%�� 4

�
, @ >

% @ � 4 � , � �	��
 %�� ,�U % 'A6 " 53,
^U��+*��$T���R��fR���� X������/����������M+23�$b�*)���+*����$%1Z)E,x!0/��������� ) � %-) * 0 5Rc7+*��1Z����$b+*�����A���C+2��$%1Z$%�� *$%� ^2+*� N
/�$%�"+23�$X ���^*$%�])A, ) ��
 %-) �x6 \y�� �/�3�$ 'A6 " ���������\+i)#��=W/�3<��+2�������L1���+2 *3�+*& �*=l����$-!#�#+*��$(���R��fR���� 
������/����������%cJ�C�Z�M�������P�5$T��+2f*$

�
+*�@+V�.��� ��3����G!#+23�+*&'$���$�3%6bvL$'p#��1P����+2�_=W�*3@��&-+*�C�

�
����$T��3���^ N

�C+*�m������/�������������0�5 %k���RN !#��+*��$(���R��fR���� ,j+*��1 � % " %k+*�E��� N !#��+*��$V���R��fR���� ,j+23�$�/��#����+2)#��$*c���������$
����$�3�$X+23�$�+i!#+*��3@�*=:����+2)#��$()�3�+*���<��$%�@�*=:������N ��3���^R��+*�9������/�����������6V8:��$-!J�����E�

�
0 5Z���"��������$(���

����$�)0��=W/�3���+2�������]!J�����E�"�M��$�3�$�����$��C�RN !#��+*��$�����+2��$i������$%�T����+2)0�������I,L^A��+P+a��/�)7�.3������C��+*�9!#�����<��=g�*3�f
)0��=W/�3���+2�������76'8:��$')0��=W/�3���+2�������P�A����/�3��@+2�

�
0
���
ce����$�3�$

���
�.�*3�3�$%��!J����1#�j���i����$(&-�C����&b/�& �*=

>
%LP , %k��$�$ \y�� �6�'A6$#),<6GnU$%��+*/#��$

� �
���G��$� �+2����^*$*cA����$����RN !#�#+*��$:����+2��$j��+*�����*�m)J$:����+2)0��$:=W�*35��&(+*���R�*3

^2+*������������ T1�$%��+�,A� %W���#����$_���l��+*�x)J$_����+2)#��$_=W�*3�1�$%��+�,A�l�.��&-!#+23�+2)#��$_��� � 1�/�$j���-����$ � N !J$�3����A1��C�
�#+2��/�3�$'�*=5��/�3@!#��+*��$T&-�A1�$%� ,<6T8���$'����1����P�*=5����$(����+2)0��$T)�3�+*���<��$%�_�*=5����$-��3���^R��+*�y������/����������j���
����$���+*&-$�+*�\����+2�b�*=:����$X1�$%�.3�$%+*������ P!#+23��\�*=

>
%LP ,<6 �D�M���� i���P����$(!J$%��/��C��+23\���#+2!;$(�*= � %LP ,<c

����$@����1����V���4�*=y����$@��+*&'$@�*3�1�$�3M+*�l����$@���C1������*= � % * ,<c0�������<�x��� Z	% � � < ,<6m8:��$@����+2)#�������I,(�*=>����$
�C�RN !#��+*��$_����+2��$b���l��1�$%�E������+*�J�������x����+2�:�*=>����$"����+2��$"�*=>!J$�3�=W$%�.�:��,R������3���� ,*6

#HI



0

Γ( )
Z( )

0-0.01 τc

x

x

x

-T/2 T/2

\y�� �/�3�$ 'A6$#ITQ8:��$a�������C1t���C��$?���������V����$a�.��/�!#���C�� S=k/����.�������
>
%LP ,(=g�*3 � 0 #IU 5QI % ��� ' U 53,<c

� � < 0 5VU " +*��1 ��� � 6L8:��$V&-���#��&\/#& +2!�!J$%+23��b+2� P 0
���
% � @ 5VU 5 5Q' ,\�������<�S���b+a��&-+*���

��$� �+2����^*$*6�\��*3D�.��&'!#+23��C�����7c � %LP ,5����+*�����-1�����!#��+%,*$%1V�M�����V����$@)�3��*f*$%�i������$*6

τc

τ
0

T/2

-T/2

0∆

T

0

0.02

-0.02

0

0

\y�� �/�3�$ 'A6 " Tyn4��=k/�3���+2�������'1���+2 *3�+*& �*=J+j�K�5�2N �����������C+2���*3U��,R����$%& �������T����$:��+*&'$l!#+23<+*&'$���$�3G^2+*��/�$%�
+*�����G\y�� �6X'A6$#264
A���C��1V+*��1x1��*����$%1i���C��$%�53�$%��!J$%�.����^*$%��,�3�$�!�3�$%��$%� �:����+2)0��$_+*��1i/�������+2)#��$D)�3�+*���<��$%��c
�M��$�3�$ � . �V���l+*����/#&'$%176G8:��$@����+2)#�������I,(!�3��*!;$�3��K,V���43�$�^*$�3���$%1?����$%� � F �06

#H&



B �t��$�3�&-�X�*=@����$P�*3��� ����#+*�:&'�R1�$%�dcl�5$Z���C���l����� !�3�$%��$%� ��+&�A/�+*������+2����^*$Z���E��$�3�!�3�$���+2�������o�*=
�M� ,V����$"�C�RN !#��+*��$@���A��fA���� -����+2��$\����/�������+2)#��$_=g�*3D��&-+*���7�*3M^w+*�#���������� b1�$%�C+%,R��6UvL$b�.��������1�$�3:����$
1�,A��+*&(�����b�*=M�I�U�S��$%/�3������T���#�����Q+23�$i���#������+*����,L^*$�3�,[��������$i���[!#��+*��$*6Q8:��$x$ �J$%�.�-�*=j+a!#/�����$
���Q����$�!0��+*��$ , . ���'��+23� *$�3b=W�*3-��&-+*�C��$�3 ) � . %-) * 6 ) � . %-)+* ���T&'�����*��������/#����,S1�$%�.3�$%+*������ a$.`��.$�!��
����$b���#����+*� �D���j���:3�$%��$�� %W�M�������?3�$���$%�.���j���Z����$b!�3��*!J$�3��K,x�*= � %LP ,l���#+2�D���D���D�����.3�$%+*���C�� -$.`��.$�!��
P50 53,<6�8:�A/���c#����$\��$%/�3����i�������?��+23� *$�3 � . &-+2f*$%�j+(��+23� *$�3mq�/�&'!?���?!#��+*��$"����$%�?���:3�$%�.$%��^*$%�j+
!0/�����$*c0)E,i�M�������Z����$b!#��+*��$b1��
�J$�3�$%���.$\);$��I�U$�$%�a����$\�I�U�x��$%/�3�������)J$%�.��&'$%�j��+23� *$�3M����$%�?����$�,
3�$%�.$%��^*$?+L!#/#����$*6 �j�Q����$i�*����$�3(��+*��17cU����$?������/�+2�������Q)J$%�.��&'$%�(1#�
�;$�3�$%� �'��=D�K�5�S��$%/�3������'����$
)J$�=W�*3�$"+*��1P+2=W��$�3M����$\3�$%��$��������� (!J�����E��c#�d6 $*6�cJ��=�����$"!#��+*��$.NK+*1�^w+*�#�.$%1Z��$%/�3����?��+*�D��&-+*�C��$�3�� . 6 B �
���#+2�X��+*��$*cl����$?!#��+*��$i1�� �;$�3�$%�#�.$i)J$%�.��&'$%�(��&(+*����$�3'����$%�r����$�,h3�$%�.$%��^*$?+S!#/�����$*6oFM���.�*3<1����� 
���L��/�3b$%&-!#����,*$%1r3�/���$*cG�����U$�^*$�3�cm3�$%��$������C�� ]+*��1Q��!#��fR���� Z�A����/�3-����&b/�����+*��$���/�����,*c9���L����+2�T����$
!0��+*��$.NK+*1�^2+*���.$%1a��$%/�3����P+*��&'�����D+*���4+%,R�j��+*�j��+23� *$�3 � . ����$%�Z����$�,i3�$%�.$%��^*$b!0/�����$%��6M8:��$�3�$�=W�*3�$*c
����$b����N !#��+*��$"����+2��$b)J$%�.��&'$%�j����$�^A����+2)0��,x/�������+2)#��$@$�^*$%�P����������/��D1�$%��+�,*6 B =9�U$b�4+*� �j�����*)���+*���
+x����+2)#��$-���RN !0��+*��$'����+2��$-=W�*3@��&-+*���y�*3"^w+*���C�������� �1�$%��+�,A��ce�U$(������/���1P$%&'!#����,Z+i3�/���$T��/��<�L����+2�
+(��$%/�3����x��!0��f*$%�l)J$�=g�*3�$j���:���l3�$%��$���c#�������<�V�U��/��C1V);$_&'�*3�$@!#�E,A���������* �����+*����,(!#��+*/�����)#��$����#+*�x����$
3</���$j$%&'!#����,*$%1?��$�3�$*6

� ��� �M� � ! �5�?��! � �������&� ! ��! ���&���	� � ��
 !$�	!�
A� � � � � ����! ����� �
8���$?��3���^A��+*�����RN !#��+*��$?������/��������o+*��1o����$P�����RN ��3���^R��+*�:�����C/����������'�*="����$?�I�U�2N �������C����+2���*3x��,R����$%&
�.�*3�3�$%��!J����1h3�$%��!;$%�.����^*$%��,O���S����$?����+2��$Z�*=D!J$�3�=W$%�.�(��,R���<��3����E,[+*��1r�K�5�2NK����/�����$�3V����+2��$%�����Q����$
��+*��$Z�*=@+[��+23� *$Z!;�*!0/���+2�������76RB �r�������X��$%�.�������7cl�5$a����/�1�,h���R��+*������+2)0�������I,[�*=_����$?�K�5�2NK����/�����$�3
����+2��$%��6 FM��������/� ��t�����RN ��3���^R��+*��������/����������X+23�$L����+2)#��$Z=g�*3x��&(+*����1�$%�C+%,R���C�r����$P�K�5�2N �����������C+2���*3
��,A����$%&ic�����$@�.�*3�3�$%��!;���#1����� T�K�5�2NK����/�����$�3M����+2��$%�M��/�3��V��/��M/�������+2)#��$*6

vL$j�.���#����1�$�34+\����$%+*1�����,T���������C��+2������ \�K�5�2NK����/�����$�3l����+2��$_���X�������<�-����$D�K�5�'����/�����$�3<�U�.�����������m�*=
(��-+*��1�( % # @ � ,Y�����������C+2���*3���c*3�$%��!J$%�.����^*$%��,*6>8:��$m���������C��+2���*3��y�������C1�$G$%+*���'���C/�����$�39+23�$l�.��&'!#��$���$%��,
!0��+*��$.NK��,R������3������$#�$%17c:+*�#1o����$P!#��+*��$.NK1��
�J$�3�$%���.$P);$��I�U$�$%� ����$a����/�����$�3��X�C�X�.��������+*� �x���o����&'$*c
�M�������x�C�:1�$%���*��$%1x)A, �V6'\�3���& � �06 % 'A6$#H* ,<c0����$_!#��+*��$@1�� �;$�3�$%�#�.$_�*);$�,R�l����$"$��E/�+2�������

) �) * 0 6 ! � % " � @ #), >
%
�
, 4 % # @ � , >

%�� 4
�
, 4)�
>
% @ � 4 � ,	��U % 'A6 " #),

vu��$%���B���:�.��������+*�E��c#�5$_�*)���+*���?+'3�$%��+2�������i);$��I�U$�$%�(�Z+*��1'� +*�

� 0 >
% 53, @ >

%�� ,
" >
% 53, @ >

%�� , @ >
% @ � ,

U % 'A6 "D" ,

vL$V1�$%���� ���+2��$X+?�K�5�2NK����/�����$�3T����+2��$V��+2������=W,A�C�� � �06'% 'A6 "D" ,\+*��%���C	� ,<6i8:��$($%�� *$%� ^2+*��/�$%�"�*=l����$
����+2)#�������I,X&-+2��3<� `V+23�$"��+*����/���+2��$%1?+*�

� < 0 6 ! � � >
! %
�
, 4 % # @ � , >

! %���4
�
,	�+C % 'A6 " ' ,

#8K



��" 0 6 ! � % # @ � , >
! %
�
, 4��
>
! % @ �E4 � ,	�+C % 'A6 " % ,

� $ 0 6 ! � % # @ � , >
! %�� 4

�
,A4)�
>
! % @ � 4 � ,	�+C % 'A6 " I ,

�M��$�3�$
>
! %LP ,G&'$%+*��� % )&%-) P ,

>
%LP ,<6m8:��$:&b/�������!0������������$%���*= � < C ��" +*��1 ��$ +23�$ ((� @ #2c ( % # @ � , @ #

+*�#1 #2cY3�$%��!J$%�.����^*$%��,*6 � < +*��1 ��" �.�*3�3�$%��!J����1P���.�#/��.��/#+2���������_���P!#��+*��$b�*=U����$'�K�5�x���������C��+2���*3��
�C������1�$m����$4!#��+*��$.NK+*1�^2+*���.$%1'+*��1b!#�#+*��$.N 3�$���+23�1�$%1T����/#����$�3%c*3�$%��!J$%�.����^*$%��,*6 ��$ �.�*3�3�$%��!J����1��������#/�� N
��/#+2���������4���X����$M!0��+*��$j1��
�J$�3�$%���.$2� )J$��I�U$�$%������$_����/�����$�3���6 F��*��$j����+2�4����$�3�$j+*���5+�,A�5$.`��������5����$
��3<��^A�C+*�Y������/���������� 0 5(�.�*3�3�$%��!J����1����� '���(����$b����+2��$\�*=9!J$�3�=W$%�.����,R���<��3����E,*c0+*��1Z�����:$%�� *$%�E^2+*��/�$
�C� 6 ! >

%
�
,U�������G( @ #_&b/�������!#�C�������K,*6


R/�)#��������/������� � �06 % 'A6$#HI ,-���E��� � �#6 % 'A6 "D" ,<c4�5$x�*)���+*���Q+a3�$%��+2�������[)J$��K�5$�$%�0�o+*��1 �xcG����$
�.�*3�3�$%��!J����1����� b��/�3�^*$D)J$%���� b���������x��� \y�� �6X'A6(' %k+3,<64n5,�/������� b�������53�$%��+2�������YcA����$_$%�� *$%� ^2+*��/�$%�4�*=
%��=C	� ,l��+*�Z)J$_�*)���+*����$%17c0�������<�i+23�$b1�����!#�C+%,*$%1i��� \>�� �6�'A6(' %W)-,�+*�M+(=W/��#�.�������x�*=��V6 BI�M���:=W��/���1
���#+2�X+*�E,[�I�U�2NK���C/�����$�3V����+2��$%�6%k�C������/�1��C�� Z����$Z����+2��$Z�*=D!J$�3�=W$%�.�(��,R���<��3����E,[ ���^*$%�r)A, � 0 53,
+23�$�/��#����+2)#��$*c>+*��1S����$�3�$X���\+?��$��b�*= %���C	� ,@=W�*3"�����C��� � < . 5?+*��1 ��" C ��$ F 5R6 ^>����������^*$ � <
&-$%+*���4����+2�l����$j�K�5�2NK����/�����$�3�����+2��$@���4/�������+2)#��$D��������3�$%��!J$%�.�4���T!;$�3���/�3�)#+2�������#�U���#����1�$D+\!0��+*��$.N
+*1�^w+*���.$%1S����/�����$�3%6 �_�a����$'�*����$�3\�#+*��17cY��$� �+2����^*$ ��" +*��1 ��$ &'$%+*�S����+2�@���@���7 8+��� : "@+2 �+*�C�����
!J$�3���/�3�)#+2���������4���#����1�$D+'!#��+*��$.N 3�$���+23�1�$%1x����/�����$�3�+*�l=k+23:+*�:����$_!J$�3�=W$%�.�4!#��+*��$.NK��,R���<��3����E,X�*=>����$
!0��+*��$.NK+*1�^2+*���.$%1x����/�����$�34�C�U&-+*�C� ��+*����$%176yv �����#���X+T�.$�3���+*�C�V3�+*�� *$D�*=��ecR����$�3�$_+23�$j!#+*��3��m�*=��K�5�2N
���C/�����$�3j����+2��$%�_3�$�!�3�$%��$%� ��$%1P)A,4%���C	� ,M+*��1 %���C	� ! ,:�������Z����$b��+*&'$'����+2)#�������K,V!�3��*!J$�3��I,*cJ+*�D����$�,
+2!#!;$%+23D+*������$\�������C1x������$%�:�C� \y�� 'A6(' %k+3,<6 B �?����$"��$.`R�M��$%�.�������7c#�5$"$.`R!#��+*���?����� +.�0"�8 "-, � ��: � � � �
: � � �x)J$��K�5$�$%�&%���C	� ,4+*��14%���C	� ! ,5�C�l!J$�3���������$%�E����,-=W�*3�&'$%1?���V��/�3�&'�R1�$%�d6


R��&-���C+23���,b���'����$_1�������/����������(�C� � 'A6(IAc�����$j����+2)#�������I,-!�3��*!J$�3��I,(&'$%�E��������$%1V+2)J��^*$@��+*�x+*�����b)J$
/#��1�$�3������A�R1\���\��$�3�&-�>�*=0����$4�*3��� �����+*�E&'�R1�$%�d6 � ^*$�3�,\��$%/�3����T�������C1�$G����$5!#��+*��$.NK+*1�^w+*���.$%1'���C/�����$�3
+*�C&'�����G+*���4+%,R�G3�$%�.$%��^*$%�G!#/��C��$%�>����$%�-�����9&-$%&")�3<+*��$l!J�*��$%� ����+*�#���9�����.3�$%+*������ �6y8:��$%�7c*����$l!0��+*��$.N
1#�
�;$�3�$%���.$_)J$��K�5$�$%�i�K�5�X��$%/�3������l���#����1�$D����$"����/#����$�3%c���=>+*� ,*c#+*�C&'������+*���4+%,R���C���.3�$%+*��$%��c����-����+2�
����$@!#��+*��$.NK+*1�^w+*���.$%1Z����/�����$�3M���:����$�^R����+2)#��,X/�������+2)#��$*6'�j�i����$@�*����$�3D��+*��17c�����$\��$%/�3���������������1�$
����$x!#��+*��$.N 3�$���+23<1�$%1h����/�����$�3-��+*�Q3�$%�.$%��^*$i!#/��C��$%�.%W����+2�'�5+*�-$%&-������$%1Q)A,O����$V!#�#+*��$.NK+*1�^2+*���.$%1
���C/�����$�3 ,\1�/�3<���� ?����$%��3T3�$%��$��������� �6Q8:��$%�YcG����$V!#��+*��$.NK1#�
�;$�3�$%���.$%�T)J$��K�5$�$%�r��$%/�3����#�b�C������1�$X����$
!0��+*��$.N 3�$���+23�1�$%1P���C/�����$�3%cJ��=G+*�E,*c7);$%�.��&-$b��&(+*����$�3%cJ��������+2�M����$b!0��+*��$.N 3�$���+23�1�$%1Z����/#����$�3_��+*�Z)J$
����+2)#��$*6

� ��� � �/����
A�&�1��������� ��� � �
vL$"p�3����l���*��$_����+2�l����$�3�$@���4+T!#+23�������/#��+23l��,A&(&'$���3�,(�*=>��/�3:&'�R1�$%�;�����C������/�3����4��/��4�.3</�����+*�J���
����$@!J$�3���������$%�E�4=g�*3<&-+2�������x�*=y����$@��$���$�3��A�����C�����j���A�*!Y6G8:��$_��,R&-&'$���3�,V���l ���^*$%�x)E,

))+* � � . % * , @ � 9 % * ,	�
[[[[ ����� 	�� : �
	�� 	��

0�5 =W�*3�+*�E, J5+*��1 �?U % 'A6 " & ,

#H*



0

0 T/2

e
ig
e
n
v
a
lu
e
s

∆

λ1

λ2

λ3

0

0.5

1

0

p

∆
T/2-T/2

(a) (b)

\y�� �/�3�$ 'A6(' T'%k+3, Y�$%��+2�������@)J$��I�U$�$%� �\+*��1���+*�����A���C+2��$%1@�������j�I�U�2NK���C/�����$�3�����+2��$%��6 %W)-, � �� *$%�E^2+*��/�$%�
�*=m�K�5�2NK����/�����$�3@����+2��$%�_+*�j+�=k/����.�������?�*= �V6 B ��%k+3,<cJ����$'��������1Z+*��1Z)�3��*f*$%�a������$%�M�.�*3�3�$%��!J����1Z���
����$\�I�U�2NK����/#����$�3@����+2��$'�*=m��$� �+2����^*$T+*�#1Z!J����������^*$ ��$ c;3�$%��!J$%�.����^*$%��,*6_8:��$\!#+23�+*&'$���$�3_^2+*��/�$%�D+23�$
�]0 #IU 5QI % � � ' U 53,�C �). �
C � � < 0 5VU(' C � � � +*�#1 �

0 5VU$#26 � +23���+2�������S�*=:����$X!#+23<+*&'$���$�3
^2+*��/�$%�41��T���*�4����+*�� *$_����$M3�$%��/������'�E/#+*������+2����^*$%��,'!#3���^R��1�$%1X����$D����&'$j�.��������+*�E��� � � < C � � < +*��1 �
+23�$"��&-+*���7�.��&-!#+23�$%1x������� � 6

units

phase phase phase

(a) (b) (c)

\y�� �/�3�$ 'A6G% T5
R����$%&-+2�����D3�$�!�3�$%��$%� ��+2�������V�*=y+T��+*1�1���$D�.������$%�.�������V)J$��K�5$�$%�i+T!#+*��35�*=��I�U�-���C/�����$�3
����+2��$%��cA����+23������� @�M�����'����$:�I�U�2NK���C/�����$�34����+2��$DF %k+3,9$%��1����� @/�!-�������T����$M�*����$�3m�I�U�2NK���C/�����$�34����+2��$
n %k�),<6

# [



)j/�$D���b�������m��,A&-&-$���3�,*cR����$M/��#�����G���#�����X��+%^*$j����$D��+*&'$j&'$%&")#3�+*��$�!J�*��$%�E����+*�;+2�5+\ ���^*$%������&'$
)J$%��+�^*$"��1�$%�E������+*����,-����$�3�$%+2=W��$�3%6 B �V�*����$�3M�U�*3�1#��c������.$"+'!J�����E�l����/�����$�3M���4=g�*3<&'$%17c����l3�$%&(+*�����l+
!J�����E�l����/�����$�3�=g�*3�$�^*$�3�6

vL$\+*����/#&'$_����+2��+'!0+*��3l�*=y�K�5�2NK����/�����$�3j����+2��$%� %k��+*�C��$%1iF +*��1in ,5$.`��������:+*�#1i��+*�l����$\��+*&'$
����+2)#�������I,Z!#3��*!J$�3��K,L+*�@���#+2�\1�������/�����$%1L��� � 'A6(&AcG�d6 $*6�c�����$-!#��+*��$.NK+*1�^w+*���.$%1O����/�����$�3b���@/��#����+2)#��$*c
+*�#1h����$x!#��+*��$.N 3�$���+23�1�$%1r���C/�����$�3��-�C�'����+2)#��$*6t
R/�!�!J����$X���#+2�-��/�3(��,R����$%& �C�-���h+a�K�5�2NK����/�����$�3
����+2��$iF ����������+*����,*6Zv ��$%�Q����$X�������C����+2���*3��T��������1�$-����$V!#�#+*��$.NK+*1�^2+*���.$%1h����/�����$�3'+23�$V!J$�3���/�3�);$%1
�M������$U����$4!#��+*��$.N 3�$���+23<1�$%1'����/�����$�3G�C��f*$�!#�y/#��!J$�3���/�3�)J$%1 %k��$�$ \>�� �6D'A6G% %k+3, ,<cA����$l=W�*3�&'$�3y)J$� ������>���
1#�������E��$� *3�+2��$l�����C��$U����$:��+2����$�3G3�$%&-+*�C���9+j!J����� �9����/#����$�3%698:��$%�7c�+j *3���/�!-�*=J1�����!J$�3���$%1\���������C��+2���*3��
+*�#1?����$b!J�����E������/�����$�3j�.�A$.`R�����D���?����$T��,A����$%& %k��$�$�\y�� �6/'A6G% %W)-, ,<6jvL$TfA�����@c7�����5$�^*$�3%cJ����+2�_���
����$_!�3�$%��$%���.$j�*=>+T!;���C� �4����/�����$�3�cA����$�3�$_$.`R�C���l+b����+2)#��$j�K�5�2NK����/�����$�3M����+2��$"���������C��������$j$.`R�C�������� 
!J�����E�-����/�����$�3(���T!#��+*��$.NK+*1�^w+*�#�.$%176 \�3���& �������T=k+*�.��cl����$i1��C��!J$�3���$%1[�����������C+2���*3��-+23�$i$.`R!J$%�.��$%1
���i�.���E^*$�3� *$X���x=g�*3�& +V!;���C� �j����/�����$�3@�.��&(���� x)J$%������1?����$'!�3�$�$.`��������C�� X!J�����E�_����/�����$�3�6�B �P�������
�4+%,*c7����$b��,R����$%& 3�$%��+w`R$%�D����+*���*����$�3D�I�U�2NK���C/�����$�3_����+2��$'n %k��$�$�\y�� �6/'A6G% %k�), ,<6 \�3���& ����$T+2);��^*$
����+2��$%&'$%� ��cl���'���T��&-!#����$%1S����+2�-���Q��/�3'���� ���NK1���&'$%����������+*�G!0��+*��$x��!#+*�.$x����$�3�$x$.`R�������'+P��+*1�1���$
�.���#��$%�.��������=g3���& ����$j����+2��$@Fu���T����$j����+2��$_nD6A8:��$M$.`�������$%���.$D�*=e+b��+*1�1���$M�.������$%�.�������X=W3���&s����$
����+2��$Dnh���b����$D����+2��$DF���+*�X)J$�+23� �/�$%1�����&(����+23���,*6�F���$���$�3��R�����������l���E�*!����G���A/��G=W�*3�&'$%1X)J$��K�5$�$%�
����$@!#+*��3l�*=>����$@�I�U������/�����$�3:����+2��$%�DF +*��1inD6

B ����$�3�&-�4�*=�����$j!#��+*��$j&'�R1�$%�dcA����$_+2)J��^*$@+23� �/�&-$%� �l��+*�V)J$M3�$%��� ��$�3�!�3�$���$%1V���V+T����������$D&'�*3�$
!#3�$%������$D��+*�� �/�+2 *$*6 B �X����$M!0��+*��$j&'�A1�$%�� ���^*$%��)A, � �06 % 'A6$#H* ,<c0+\��,R&-&'$���3�,-!�3��*!J$�3��I,-����&-���C+23m���
� �#6 % 'A6 " & ,�+*�����-������1��OT

))+* � ,/. % * , @`, 9 % * ,	�
[[[[ � ��� 	�� : � 	�� 	��

0�5 =W�*3M+*�E, J5+*��1 � U % 'A6 " K ,

�_/�3:+23� �/�&'$%�E�:���C���;);$j)#+*��$%1i���x����$_=W�������������� '+*����/�&'!��������#�OT
%k+3, %���C	� ,5�M����� � < . 5-+*��1 ��" C ��$ F 5-$.`R�����%c
%W)-,�%���C	� ! ,5������� � ! " . 5-+*�#1 � ! < C � ! $ F 5'$.`�������c

�M��$�3�$��5$M1�$�p#��$ � . 5\+*��1�� ! F 5 * � . +*�#1 � !. %LJ/0 #IC " C4' ,5+23�$M����$�$%�� *$%� ^2+*��/�$%�U�*= %���C	� ,m+*��1
%��=C	� ! ,<c�3�$%��!;$%�.����^*$%��,*6aF��*��$�����+2�b��= � 0�5VU(IAcy����$X�K�5�P����/#����$�3��"�C� �E/�$%���������S+23�$X��1�$%�E������+*�dc��*3
� ! 0 @ �VcE���\����+2� %k+3,m+*��1 %W)-,G+23�$���1�$%� ������+*� 6 \y�� �/�3�$ 'A6(I@���C��/�����3�+2��$%�m+@������$%&-+2�����:!#3�$%��$%�E��+2�������
�*=5����$ ( @ #'1��C&'$%���������#+*�e!#�#+*��$'��!#+*�.$(����3</��.��/�3�$ %W����$�3�$'�U$-�� ����*3�$T����$-1�$� *3�$�$-�*=U=g3�$�$%1���&
�*="����$P&-$%+*�t!0��+*��$�,<6 	��L+*��1 	

�
1�$%���*��$Z����$a��/�)0��!#+*�.$%�X����$�3�$Z����$Z!0��+*��$.NK+*1�^2+*���.$%1u+*��1

!0��+*��$.N 3�$���+23�1�$%1S����/�����$�3��_�*= %���C	� ,D3�$%&-+*���L!J�����E�@����/�����$�3<��cY3�$%��!J$%�.����^*$%��,*6Xn5,L�.��������1�$�3<���� V����$
1#��3�$%�.�������O�*=�$%�� *$%�E^*$%�.���*3���c5����$V��+*�Q$%+*������,O�.����p�3�& ����+2� 	��i+*�#1 	

�
+23�$x��1�$%�E������+*�U�������O����$

����+2)#��$a��/�)#��!0+*�.$%�X�*=�%���C	� ,X+*��1 %���C	� ! ,<c�3�$%��!J$%�.����^*$%��,*6 \�/�3�����$�3�&'�*3�$*cM)J$%��+*/���$ 	��L+*��1�	
�

+23�$ �	��+ � , � � � 89��/�)#��!0+*�.$%�_1�/�$b���x����$-��,R&-&'$���3�,Z ���^*$%�a)E, � �06 % 'A6 " K ,<c'%���C	� ,D+*��1 %���C	� ! ,D+23�$
+2����3<+*�.���*3����M����������	��\+*��1 	

�
c�3�$%��!J$%�.����^*$%��,*6G8:�A/���c����x����$@+*����/�&'!#�������V����+2�

" 5



%k�),�$%+*���P+2����3�+*�.���*3j���l�������#���(����$@)#+*�����V�*=y+2����3�+*�.�������Z�*=y����$_�*����$�3D+2����3�+*�.���*3%c
+(��$���$�3��R�����������D���A�*!i)J$��K�5$�$%�&%���C	� ,4+*��14%���C	� ! ,4�C�4=g�*3�&-$%176

8:��$4��+*1�1���$4�.������$%�.���������y+23�$  8+����:��5=g�*3<&'$%1b����3���/� ��b����$l���E^w+23<��+*� �>��/�)#��!#+*�.$%�>����+2�y$.`R�����>=W�*3
����$\��,R&-&'$���3�,V�*=9$��A/�+2�����������*=G&'�*�������7c0�*3 � �#62% 'A6 " & ,<6M8:��$\��$���$�3��R�����������_���E�*!P���:���A/��:3��*)#/����
/#��1�$�3X��&-+*���:!J$�3���/�3�)#+2���������(/�����$%���-����$P��,A&-&-$���3�,Q�*= � �06 % 'A6 " & ,����()�3��*f*$%�76 8:��$?!0� ,R������+*�
&-$%����+*���C��& �*=�����$_=g�*3�&(+2�������V�*=�����$@��$���$�3��R�����������D���A�*!V�U$"1�$%���.3���)J$j��$�3�$_1��A$%�:���*�l1�$�!J$%��1����
����$"��+2��/�3�$"�*=>$%��$%&'$%� ���7%W!#��+*��$_������������+2���*3%c0����&-���4�.,R����$"�������C����+2���*3%c�$.`�������+2)#��$"$%��$%&'$%�E����c#���#+2�*�����
$%��$%&'$%� ���%c#$����26 ,X+*��1x����$"�*3��� ����x�*=9�.��/�!0������ �� %k1�� �J/�����^*$_�.��/�!#������ �c���,A�#+2!������_�.��/�!#�C���� �c�1�$%��+�,*$%1
�.��/�!#������ �cE$����26 ,<6 B �5�C�m$.`R!J$%�.��$%17c�����$�3�$�=W�*3�$*cR����+2�4����$j��$���$�3��R�����������M���A�*!����U=W�*3�&'$%1V���X����1�$D����+*���
�*=J!J�*!#/��C+2�������T&'�A1�$%����6evL$D+*�.��/�+*����,bp#��1T���#+2�m���9+23�����$%�m���'+_!J�*!#/���+2�������\�*=J�.��/�!#��$%1-����&-��� NK�.,A����$
������������+2���*3��%c��������<�x���l1�$%&'��������3�+2��$%1?��� Nl��+2!Y6 %�6

v ��$�����$�3D����$\3�$%��/��������� X��$���$�3��R�����������\���A�*!P���D+2����3�+*�.������ ��*3_���*�j1�$�!J$%��1������P����$\=W�������������� 
�A/�+*�E�����K,�T

��� ��" � ! <� < � ! " U % 'A6 " * ,
B �(�4+*�V+23� �/�$%1 ��� Y�$�=I6�� #H' � ����+2����= � . #2cl����$a��,R����$%& +2!�!�3���+*�<��$%������$P��$���$�3��A���C�������x���A�*!
+*�#1]�.��&'$%�\���?&'��^*$�+*������ ?����6 B �]����+2�"��+*��$*c>����$-����&-$-��� ��$�3�^w+*�G1#/�3����� ������C���L����$X��,A����$%& ���
��3<+2!�!J$%1(��$%+235����$D�*=Y����$��I�U�2NK���C/�����$�3l����+2��$%�l�����.3�$%+*��$%�m$.`R!J����$%�E����+*����,T�������(����&'$*6m
R/�)0��������/������� 
����$"$%�� *$%�E^w+*�C/�$%�:�*)���+*�C��$%1i=W3���& � �E�%62% 'A6 " ' ,M+*��1&% 'A6 " % ,M/������� � �06 % 'A6$#HI ,M���E��� � �#6 % 'A6 " * ,<c7�5$
p0��1�����+2�l����$@��$���$�3��R�������#���M���E�*!#�4�M����������+'�.$�3���+*���V3�+*�� *$_�*=��?+23�$@�C�X=k+*�.��+2����3�+*�.���C�� '=g�*3M��&-+*���
� � < C � � < +*��1 � 6GvL$"���A/��:�.�������C/�1�$_����+2�:����$"�������H���������<������ '!0��$%����&'$%�����x1#������/�����$%1x����� 'A6('
3�$%��/������4=W3���& ����$"$.`R������$%���.$@�*=y+*�i+2����3�+*�.������ ���$���$�3��R���������C�M���A�*!Y6

F�!#��+*��$D1���+2 *3�+*&s�*=7����$j��$���$�3��R���������C�:���A�*!#�m+*��1���,R&-&'$���3��C��&b/������ NK����/#����$�3U����+2��$%�4���5���������
�C�K\y�� �6�'A6(&Ac�����$�3�$'�5$-�����E����$

�
+*�"+x�.��� ��3����G!#+23�+*&'$���$�3 %k��$�$(F�!#!;$%�#1�� `?F =W�*3@����$-����+2)#�������I,

+*�#+*��,A�����4�*=y����$"��,R&-&'$���3��C�@&\/#����� NK����/�����$�3:����+2��$%� ,<65vL$\��+�^*$\����$%��f*$%1P����+2�:����$"!#��+*��$"1#��+2 *3�+*&
�*)#��+*����$%1(�C�G���' *�A�A1X+2 *3�$�$%&'$%�E�U�M�����'3�$%��/#�����9�*)���+*����$%1')E,'�A/�&'$�3��C��+*�����E��$� *3�+2���������m�*= � �#6 % 'A6$#),
�M��$%� 6 ���:��/�
X����$%� ����,X��&-+*�C�d6

� ��� �3� ���1� ������� �
B �x�����C�:����+2!#��$�3%c#�5$\��+�^*$\1��C����/�����$%1V����$\�������H���������������� '!#��$%����&'$%�����i���i+'!J�*!#/#��+2�������V�*=91�$.N
�C+%,*$%1'!#/#����$.NK�.��/�!#��$%1"�������C����+2���*3���6>vL$l=W��/���1b����+2�9����$l!#��$%����&'$%�����T���9��+*/���$%1T)E,\����$l=g�*3<&-+2�������
�*=y+T��$���$�3��R���������C�M���A�*!V)J$��K�5$�$%�i+T!#+*��34�*=e�I�U�2NK���C/�����$�3�����+2��$%�%6UF !0+23�������/���+23l����+2)0�������I,-!�3��*!J$�3��I,
�*=9����$"�K�5�2NK����/�����$�3D����+2��$%�j+*��1Z+(�.$�3���+*�C�?��,R&-&'$���3�,V�*=9��/�3D&'�R1�$%�Y+23�$\3�$%��!J��������)0��$j=g�*3D�����:=W�*3�N
&(+2�������76 �j/�3l�*3<�� �����+*�J&'�R1�$%�; ���^*$%�x)A, � �#6 % 'A6$#),l���43�$%1�/��.$%1V���(����$@����+*��1�+23<1V!#��+*��$_&'�R1�$%�7���
����$��5$%+2f-�.��/�!#������ @����&-����c*)A,'�����C���'�5$M��/#���.$�$%1�$%1X�C�-����/�1�,R���� _����$M����+2)#�C�����K,b�*=J^w+23<����/��m���C/�����$�3
����+2��$%�M+*��+*��,E������+*�C��,*c�+*��1i�.����p�3<&-���� T����$@����3</��.��/�3�$_�*=y����$@��$���$�3��A�����C�����j���A�*!Y6

" #



Ea

Er
(p,

λ1

λ

1

λ2

λ

2

λ3

λ3

∆)

(p, ∆ ’)

’
’

’

, attractor of Ea

, attractor of Er

Ea ErU

\y�� �/�3�$ 'A6(I T-
R����$%&(+2�����-3�$�!#3�$%��$%�E��+2�������]�*=4����$�����3�/��.��/�3�$-�*=l+i��$���$�3��R���������C�'���E�*!e66%���C	� ,@+*��1
%��=C	� ! ,U);$%�.��&-$"+2����3�+*�.���*3��M���������C�X����$"���E^w+23��C+*� �l��/�)0��!#+*�.$%��	��"+*��1 	

�
c�3�$%��!J$%�.����^*$%��,*6

0

0.5

1

0 1 2 3

p

τ

1

2

3

4

5

6

7

8

9

10

n

1

2

3

4

5

6

7

8

0

9

1

0 1 2 3

n

τ

(a)  b>a (b)  b<a

\y�� �/�3�$�'A6(& T"^m��+*��$\1���+2 *3<+*&B�*=G����/�����$�3�����+2��$%�D�*)���+*����$%1Z���x����$\�U$%+2fZ�.��/�!#������ T�C��&-����c�����$�3�$
�

�C�M�<������$%�a+*�j+X�.���E��3����>!#+23�+*&'$���$�3�6j8���$"!#+23<+*&'$���$�3j^w+*��/�$%�M+23�$b����$T��+*&'$T+*�j���5\y�� �6�'A6$#b�������
%k+3, � . �X+*��1 %W) , � F �#61\��*3� ���^*$%� �?+*�#1 � ��������1�$�����$_ *3�+�,V3�$� ������7c � ���l��+23� *$�3l����+*�i����$*c��d6 $*6�c
����$X��$���$�3��R�������#���-���A�*!S)J$��K�5$�$%��%���C	� ,"+*��1 %���C	� ! ,@���"+2����3<+*�.������ �6 � +*���O3�$%�.��+*�� ���$�!#��+*�.$%1[+2�� ���#1�����+2��$%�j����$'3�$� ������a�*=

�
�������#���?�M�������a����$T��,A&-&-$���3���� � NK����/�����$�3@����+2��$(���_����+2)#��$*6�B � %W)-,<c

����$�3�$"+23�$@����+2)0��$"��,R&-&'$���3��C� � NK���C/�����$�3�����+2��$\=g�*3 � .V#�5=%k���*�����������-,<6

"D"



� �������	��
 �

� ��� � ����� � � � �
	 � ��� �"��� �  �� �����#� 	!�3%& 

��� � 
w	� � ��� � %&� �$	.����� � 	 %4� ��	.� %��



� ��� �?� � 
A� %(��� �A�	� �
B �T�������9�<��+2!���$�3%cE����$:�������o���������������� M!#��$%����&'$%�����'���91#������/�����$%1b�C�\����3�$�$:��!J$%����p#�4&'�R1�$%����6 � +*�<�
&-�A1�$%�A��+*�y1��
�J$�3�$%�E��!#3��*!J$�3��K,@���b�.��/�!#�C���� * ����$5p�3����>����$4����+D *$%��$�3<+*�A�.��/�!#������ 9%k�d6 $*6�c*����$4��,R����$%&
�*)J$�,R���*3<1�����+23�,x1�� �;$�3�$%�E����+*�e$��E/�+2��������� ,<c;����$\��$%�.���#1Z����$b���M+X1�$%��+%,*$%1a�.��/�!#�C���� �c#+*��1Z����$b��+*���
����$T�C�9%k1�$%��+%,*$%1�,M!0/�����$b�.��/�!#������ �6 B �P����$'��+2����$�3_�K�5�i&'�R1�$%����cJ���j���j���������P����+2�_����&'$T1�$%��+�,Z���
�.��/�!#������ Z!#��+�,A�T+a$%����$%�E����+*�53�����$x���O����$V=W�*3�&-+2�������[�*=M��$���$�3��A���C�������X���E�*!0��66B �[!#+23�������/���+23%c9�5$
�M�����e+23� �/�$T����+2�j����$'����+2)#�������K,i�.����1����������P=g�*3j����$T=W�*3�&-+2�������P�*=m����$T��$���$�3��A���C�������\���E�*!L���M$%+*������,
��+2������p�$%1X��$%+23m����$�)#��=k/�3���+2�������'�M��$�3�$:����$M����+2��$M�*=7!J$�3�=W$%�.�m��,R���<��3����E,T������$%�m����+2)0�������I,*6y8���3���/� ��
����$�1�������/#���������'���T���#���G���#+2!���$�3%cA����$�&-+�,T/#��1�$�3�����+*�#1'����$��������o���M���������C�� _!#��$%����&-$%�����'�R����/�3��
�C�x+'����1�$_����+*���l�*=y ����*)#+*����,��.��/�!#��$%1V������������+2���*3��%6

� � � � ����% #$!�
A������� � ��� � �
�1������! ����
A� � � �����	�1% � � � ! ��� ����� �A�	� ���
vL$b�.��������1�$�3:+' *$%��$�3�+*�Y&-�A1�$%�J�*=y ����*)0+*����,X�.��/�!#��$%1x��1�$%�E������+*�J�������C����+2���*3��l�M�����V����$_=W�*3�&GT

))+*�� . % * ,10��=% � . , 4 6( 789�:=<	� % � . C � 9 ,�C %�%�6$#),

MM$�3�$ � . C
� +*��1 � +23�$��VNK1���&'$%�#��������+*�43�$%+*��^*$%�.���*3�� * +*��1 6 �C�-+]!J����������^*$i�.��������+*�E��6RB �
� �#6 %�%�6$#),<cU+a��,R&-&'$���3�,L!�3��*!J$�3��K,O����&-���C+23@��� � �06 % 'A6 " & ,\�*3 � �06 % 'A6 " K ,T+*�����a������1��%c>�M�������O���
3�$�!�3�$%��$%�E��$%1i+*�

))+* � � . % * , @ � 9 % * ,	� [[[[�
 � � 	�� : 
 	 � 	��
0 5 =W�*3�+*���`Jm+*�#1 �?U %�%�6 " ,

FM�*��$4����+2�9+*���E����$5&-�A1�$%�C�����E��3��R1�/��.$%1\���"���#�����<��+2!���$�3y!J������$%��������$l����&(����+23e��,R&-&'$���3<���G!�3��*!;$�3��K,*c
���-����+2�:�����.$\+'!J����� �l����/#����$�3����4=W�*3�&'$%1i�C�V����$@��,R����$%&xc#���l3�$%&-+*�����l+'!J�����E�l����/�����$�3�=g�*3�$�^*$�3�6


R/�!�!J����$@���#+2������$T���R��+*�e1�,R��+*&-�����M���:�I�U�2NK1#��&'$%����������+*�dc0� 6 $*6 � 0 %LP�C�� ,<c7+*��1i����$T��!J$%����p#�
=W�*3�&-�:�*=�� +*��1 � +23�$_ ���^*$%�i)A,

�=% � . ,10����������� 0�� '-P ". @ P $. 4�� .�@ �

# @ I-P ". @ � . � C %�%�6(' ,

� % � . C � 9 , 0 � � �
� � � 0 � P 9 @ P .5 � C %�%�6G% ,

8���$D�.�*3�3�$%��!J����1����� @$��E/#+2���������� 0�� �C�U��+*����$%1(����$ MD����1�&(+23����RNZY�����$�&'�R1�$%�0�������<�(�4+*�5�*3��� �� N
�#+*����,(!#3��*!J����$%1x=W�*3�+-��$%/�3<+*�7�����������C+2���*3 � " 5 � 6 � +*���?$%��$%&'$%�E����)J$%�.��&'$%�M+-����&-��� NK�.,A����$j�������C����+2���*3
��= @ #D#IU(I F � F 5VU(* � " # � 6'vL$(��$�� � 0 @ #2ce���#�����P ���^*$%�_����$-��� ��3<���������"!J$�3����R1 � � & U " 6-8:��$
�.��/�!#������ " ���^*$%��)E, � �#6 %�%�6G% ,5���5��+*����$%1�+\1#�
�J/#����^*$��.��/�!0������ �cA+*��1V���-��$�3�&(�U�*=���$%/�3��*!#�E,R���������* *,*c
���#���l�.�*3�3�$%��!J����1#�4���-����$@$%��$%�.��3<����+*�Y��,R��+2!#��$_=W�*3�&'$%1i)E,� �+2!'q�/����.�������#� � "D"�� 6

" %



B �O����$V&'�A1�$%�m ���^*$%�Q+2)J��^*$*cm����$�������� ���������������� i!#��$%����&-$%�����O�C�" *$%��$�3<+*����,L�*)���+*����$%1O=W�*3
��&-+*��� 6 6Q
A��&'$x�E/#&'$�3�����+*�53�$%��/#�����"�*)#��+*����$%1[������� 6 0 5VU$#x+*��1 ( 0 #�5 5L/��#1�$�3\3<+*��1���&
�C��������+*�9�.����1#�����������\+23�$X��/#&-&-+23��$#�$%1S+*�"=W������������6;B �]$%+*���[��3��C+*�G�*=:�A/�&'$�3�����+*�m��� ��$� *3<+2�������7cy����$
��,A����$%& �.��� ^*$�3� *$%�'+2=g��$�3b+?������ ?��3�+*������$%�E�@���?+?�K�5�2NK����/�����$�3T����+2��$��������<�]���_!J$�3����A1��C�\���]����&'$*6
\y�� �/�3�$�%�6$#b1�����!0��+%,R��+(����&'$\��$�3���$%�M�*=G����$"�*3<1�$�3M!0+23�+*&'$���$�3%6DnU$�=W�*3�$b����$T�.��� ^*$�3� *$%�#�.$*c7�U$T��+*�
��$�$D���#+2�l����$_��,A����$%& 3�$�!J$%+2���l���������<������ \)#+*��f�+*��1V=g�*3<�.$D)J$��I�U$�$%�x+T!#+*��3U�*=��K�5�2NK����/�����$�3�����+2��$%��6
Y�$%��+2����^*$M!;�*!0/���+2�������'�*=J����$D����/�����$�3<�m���m *$%��$�3�+*����,'1�$�!J$%��1#�9���-����$D���������C+*���.����1����������Y6�B =7�U$M ���^*$
^*$�3�,Z��&-+*�C��!J$�3���/�3�)#+2���������D����1�$�!;$%�#1�$%� ����,����x����$b������������+2���*3��j���a+��K�5�2NK����/�����$�3"����+2��$(+2=W��$�3_����$
�.���E^*$�3� *$%���.$*c4����$x����/#����$�3��T����+23��T���]1�������� ��$� *3<+2��$*cm��&'!#��,A���� ?�����T������$%+23T��������+2)#�������I,*6L8:�E/#��cG+*�
+2����3<+*�.������ X��$���$�3��A���C�������D���A�*!i)J$��K�5$�$%�?+T!#+*��3��*=��I�U�2NK����/#����$�3D����+2��$%��������/#��1V$.`R�C����6

� ��� ����! � ����� ��� ! ��! � �&���	�
vL$@��+*�V!J$�3�=W�*3�& ����$_����+2)#�C�����K,-+*�#+*��,A�����5�*=e����$j�K�5�2NK����/�����$�3�����+2��$%�l����3���/� �������$_&'$������R1X�*=�����$
�����! �" , "�� Q �)8 � ��� 6 B �a *$%��$�3�+*�dce�.��/�!#��$%1a���������C��+2���*3��_���j3�$%1#/��.$%1a���x����$'!#��+*��$-&'�A1�$%���M��$%�a����$
�.��/�!#������ j���9��/�
(����$%�E����,"�5$%+2f �G& � 6y8���$�3�$:���9+j *$%��$�3<+*��=g�*3<&\/��C+M���\1�$�3���^*$l+*�'$�^*����/��������T$��E/#+2�������
=W�*3_!#��+*��$%�_�*=m����$'������������+2���*3��%6 \��*3"����$-&'�R1�$%�y ���^*$%�a)A, � �#6 %�%�6$#),<c>����$-�.�*3�3�$%��!J����1#���� �!#��+*��$
1�,A��+*&(�����43�$%+*1��

))+* ,/. % * ,10 #'4 6(
78
9;:=<?>

% ,/.A@`, 9 ,�C %�%�6(I ,

�M��$�3�$ , . �C�G����$D!#��+*��$M�*=Y����$ JdN ����������������+2���*35�����C���-^2+23���$%�U)J$��K�5$�$%��5\+*��1X����$j���E��3��������C�4!;$�3<���A1� c�+*��1 > ���4����$@�.��/�!#������ \=k/����.�������V�M�������V��� � N !;$�3<���A1#���26PY���/� �����,���!J$%+2fA�C�� �c , . ���l1�$�p0��$%1x���+*�j���i�#+%^*$-+x�.��������+*�E�_^*$%���R�����K,P+*������ x+x����&(��� NK�.,A����$\���P����$T����$.N �������C����+2���*3_!#��+*��$T��!#+*�.$T����$%�

6 0 5R6]8:��$x�.��/�!0������ i=k/����.�������[�C�\�.��&'!0/���$%1h�E/#&'$�3�����+*����,P=W�*3-��!J$%����p#� � +*��1 �  ���^*$%�[)E,
� �E�%6 %�%�6(' ,l+*��1 %�%�6G% ,<c0�M�������x�C�:1�����!0��+%,*$%1x��� \>�� �6-%�6 " 6 �_��$"������/#��1V���*�����.$@����+2�M����$"���C&-����+23����K,
)J$��I�U$�$%� \>�� �6Q%�6 " +*��1_\>�� �6<'A6$#26G8:��$l$.`�������$%���.$M+*��1-����+2)#�C�����K,b+*��+*��,R�����G+23�$:!J$�3�=g�*3<&'$%1'����&-�C��+23���,
��� � 'A6(&Ac#�����C���x���������l����+2������$@����+2)#���C���K,X!�3��*!J$�3��K,��*=>����$@�K�5�2NK����/�����$�3M����+2��$%�D+*1�&-����c�)0+*��$%1V���
����$@+23� �/�&'$%�E�:��� � 'A6LKEc�����$_$.`�������$%���.$_�*=>+2����3�+*�.������ X��$���$�3��R�����������M���A�*!#�4���������C�X+'�.$�3���+*�C�V3�+*�� *$
�*= �e6

v ��$%� 6 )J$%�.��&'$%�X���E�Q��+23� *$*c:��/���� +*� Z % #),<c:����$P�K�5�2NK����/�����$�3x����+2��$%�� ���^*$%�X�4+%,r���[����$
����+2��$X�*=4!J$�3�=W$%�.�\��,R������3���� ,a)A,a�������<�L����$X��$���$�3��A���C�������T���A�*!O1��C��+2!�!J$%+23���6 B �\��$�$%&-�@����+2�\����$
��$���$�3��A���C�������5���A�*!T1��E$%�9���*�9!J$�3��������>����$%�b����$:�.��/�!#�C���� j���y���@����3����� _���#+2�9����$4!#��+*��$l1�$%���.3<��!��������
�.��&-!#��$���$%��,�)�3�$%+2fR�:1������76

" I



0

0.5

1

0 2000 4000 6000

o
rd

e
r 

p
a

ra
m

e
te

r
t

\y�� �/�3�$9%�6$#IT\8:�C&'$'��$�3���$%�_�*=5����$-�*3<1�$�3@!#+23�+*&-$���$�3%6(8:��$'�*3<1�$�3@!#+23�+*&-$���$�3 ZB�C�_�.��� ^*$%����$%� ����,
1�$�p#��$%1T���T����$4=W���������M���� D�5+�,*6 JY$�� * 9 % � 0 5VCH#IC " CONONON�,>1�$%���*��$l����$l����&'$l+2�9���#�����b����$l3�$�!#3�$%��$%�RN
��+2����^*$_!;���C� �5�*=e����$ �*N ���x�����������C+2���*34�.3�������$%�l+T ���^*$%�x��$%�.���������o�C�X����$ # N ������������+2���*3l!#�#+*��$_��!#+*�.$*6
8���$\�*3<1�$�3M!0+23�+*&'$���$�3@+2�j����&'$ * 0 * 7 ���j1�$�p#��$%1Z+*� Z	% * 0 * 7 ,"0 <7 [[[ � 79;:=< $.`A!�� J "�� � 	 	 ��	�� �		� ��	 ��
 [[[
+*�T+P *$%��$�3�+*�C�$#%+2�������[�*= � �06 % ' ,<6[
R�����.$X����$�������������+2���*3<�\�.3�������� +2 �+*���h+*�#1O+2 �+*���Yc9����$V�*3�1�$�3
!0+23�+*&'$���$�3'+2�'1������.3�$���$X����&'$%� * 0 *�
 7 %�� 0 #IC " CONONON�,"��+*�[)J$X1�$�p#��$%1S����&(����+23���,*6aFM�*��$V����+2�
Z % * , 0 #"����$%�?����$@���������C��+2���*3���+23�$"!J$�3�=W$%�.����,x��,A�#����3����#�$#�$%1i+*��1BZ	% * ,'0 5-����$%�i����$%��3�!0��+*��$%�
+23�$"/�����=W�*3�&-��,-1�������3���)#/���$%176

0

0.05

0.1

0.15

-T/2 0 T/2

Γ(x)

x

 

 

\y�� �/�3�$ %�6 " T N5��/�!0������ '=k/����.�������i�*=9����$"3�$%1#/��.$%1?&'�R1�$%�d6l8:��$\&-���#��&\/#& �*=
>
%LP ,:+2!�!J$%+23���+2�j+

��$� �+2����^*$&P�6 � � & U " �C�V����$_p� �/�3�$*6

" &



� ��� � ����% #$!�
A������� � ��� � �
�1������! ����
A� 
 � �A� %��'�	! � �1%Y� � �����������
B �G���y�5$%���AfA�������T����+2�m����$:����+2��$:�*=0!;$�3�=g$%�.�G��,R���<��3����E,*c �d6 $*69+*���A����$l���������C��+2���*3��9��+�^*$�+*�-��1�$%�E������+*�
!0��+*��$*c��C�7�*=g��$%�@�*)���+*����$%1@�C�j ����*)#+*����,D�.��/�!#��$%1_�C1�$%� ���C��+*�2������������+2���*3<��6=\��*3�$.`R+*&-!#��$*c����Y���J *$%��$�3�+*����,
����+2)#��$_=W�*3�+23�)#����3<+23�,X�.��/�!0������ '����3�$%�� *�����l�������V����$@=g���C�������C�� T=g�*3�&B�*=>�.��/�!0������ T

� % � . C � 9 , 0 � 9 % * , @ � . % * ,�U %�%�6(& ,
vL$\������� �����������l��$%�.�������i����+2�l����&'$@1�$%�C+%,V��� ��3��A1�/#�.$%1��C� ���-�.��/�!0������ T��+*/���$%�:�C������+2)#���C���K,'�*=>����$
����+2��$b�*=U!J$�3�=g$%�.�j��,R������3���� ,*cJ���#�����Z+2�D����$b��+*&-$b���C&'$b�C�M+*���.��&'!0+*����$%1P)E,?����$b+2!#!;$%+23<+*���.$\�*=
����$i��$���$�3��R�����������X���A�*!Y6SvL$i+2 �+*���o+*����/�&'$ � +*� � �#6 %�%�6(' ,<cl+*��1 � +*�-+L/#����=W�*3�&-��,L1�$%��+�,*$%1
�.��/�!#������ �cR ���^*$%�i)E,

� % � . C � 9 , 0 � 9 % * @��
, @ � . % * , %�%�6LK ,

�M��$�3�$
�
1�$%���*��$%�e1�$%�C+%,*6�F��*��$5����+2�e����$m��,R&-&'$���3�,j!�3��*!J$�3��I,9%�%�6 " ,e�������C�*������1��7�M��$%�_����$m�.��/�!#������ 

�C� ^*����^*$%�j+�/�����=W�*3�& 1�$%��+%,*6DvL$T�������e������� ����&-$b�A/�&'$�3��C��+*�e3�$%��/������:�M�����?����$b��+*&-$\!#+23<+*&'$���$�3
^2+*��/�$%�l+*�l�C� � %�6 " 6 \y�� �/�3�$ %�6('T1�����!#��+%,R�4+b����&'$j��3�+*�.$@�*=�����$_�*3�1�$�3l!#+23<+*&'$���$�3%6Gvu��������/��l1�$%�C+%,*c
����$b��,R����$%& /���1�$�3�^2+23�����/��M����������+*�e�.����1����������#����&-&-$%1���+2��$%��,x�.���E^*$�3� *$%�_��������$b����+2��$b�*=9!J$�3�=W$%�.�
��,A���<��3����E,*6GFM�

�
���G�C���.3�$%+*��$%17cE����$:����$.NK���C/�����$�3U����+2��$M!J$�3����C�����9/�!-���b+"�.3������C��+*��^w+*�C/�$

�
�4)J$�,*����1

�M�������P����$'����/#����$�3_��!#�������D���E���V�K�5�i+*��1a+2�_����$'��+*&'$T����&'$'��$���$�3��R�������#���"���A�*!#�j+23�$T=W�*3�&'$%176 B �
����$@!#+23�+*&'$���$�3M^w+*�C/�$%�4 ���^*$%�?+2)J��^*$*c��������:�.3<��������+*�J^2+*��/�$@��$�$%&-�:���()J$_+2);��/�� 5VU$#H*A6

8:��$i!#�#+*��$?3�$%1#/��.�������h�*=_����$P&'�R1�$%�dc4�������<�r���X+2!�!#������+2)0��$x����$%�o����$?�.��/�!#�C���� ]���(�U$%+2f;c
!#3���^R��1�$%�U+"����$%+234/���1�$�3<����+*��1����� _�*=7����$M+2)J��^*$D3�$%��/#����6 \��*35+b��,R����$%&s�������(+\/�����=W�*3�&-��,\1�$%��+�,*$%1
�.��/�!#������ '��/#���i+*� � �#62%�%�6LK ,<c#����$"�.�*3�3�$%��!J����1����� \3�$%1#/��.$%1i&'�R1�$%�J��+2f*$%�M����$_=g�*3<&

))+*-,/. % * ,10 #'4 6(
78
9;:=<?>

� ,/. % * , @`, 9 % * @��
, � U %�%�6(* ,


������.$P����$]��$%�.����1u��$�3�& ���u����$a3��� ��E� NK��+*��1u����1�$L���V&b/�������&-+*����$�3V����+*�u����$Lp#3�������$�3�& )E,
+*����/�&'!��������7c %�%�6(* ,l���l=k/�3�����$�3l3�$%1�/��.$%1V���X����$_=g�*3<&

))+* ,/. % * ,10 #'4 6(
78
9;:=<?>

� ,/. % * , @`, 9 % * ,A4 � � U %�%�6 [ ,

8��E/��%c0����$�3�$b���j����$.`R!#���������M1�$%��+%,Z���Z�.��/�!#������ �c;�����C��$"�����M$ �;$%�.�@�#+*�D����� )J$�$%�Z�.���E^*$�3���$%1L���x+
!0��+*��$-������=g�D�*=U����$-�.��/�!#������ �=k/����.�������Z)A,

�
ce+*�@�����C/�����3�+2��$%1a���`\y�� �6�%�6G%�6-8:��$T����+2)#�������I,?�*=5����$

����+2��$i�*=�!J$�3�=W$%�.�'��,A�#����3����E,O1�$�!;$%�#1��"$%�E����3�$%��,S���Q����$x���� ��[�*=
>
! %
�
,�%k��$�$ � 'A6(& ,<cl���a����+2�'����$

����+2��$j�C�U����+2)0��$�=W�*3l��&-+*���
�
6GFM�

�
�C���.3�$%+*��$%��c����U)J$%�.��&'$%�4��$%���5����+2)#��$*cR+*��1�+2�

�
.
� �
���U)J$%�.��&'$%�

/#������+2)#��$*c#����$�3�$
� �
���M1�$�p#��$%1i+*�M����$\^w+*��/�$"�*=

�
���#�����Z&-������&(�$#�$%�

>
%
�
, %k��$�$�\y�� �6�%�6G% ,<6 FM�*��$

���#+2�D����$b����3<��������+*�Y^2+*��/�$
�
� ���#�����?�5+*�j�*)���+*�C��$%1?����3���/� ��P�E/�&-$�3�����+*�e����&\/#��+2���������M����$.`R!J$%�.��$%1

���X+2 *3�$�$"�������
� �
����$%�x����$"�.��/�!#���C�� '���l��/�
(����$%� ����,X�U$%+2f;6 \��*3

�
.
� �
c�����$"�.��/�!0������ T=k/����.�������

" K



0

0.5

1

0 2000 4000 6000
or

de
r 

pa
ra

m
et

er

t

τ=0.3
τ=0.1

���������
	���
�����������	���	�����	�� �"!$#
%�	��"��&�	���')(*��("��	�#�	��+
���%�	,&�	�-).)��#
����./�"!0#
%�	,�"�1&�	�� '2(*��("��	�#�	��3���
#
%�	4�
("��	5("�,��.6�7����
8��
�9*
5���"��:<;=:�>*?8#
%�	@��A��
#�	��B�
%��DCE�3'F	��
!G	�HI#J��A�.)H�%��
��.KA"
ML�.N#
%�	��"#
%�	��
%)(".�&O?P!G�"�Q:SRT: > #
%�	M�
U��+CV��CE��#
H1%���.��W')%�	�.�����	�.���.X(*������	���
Y�E%�	5HI����#
�ZH�("U\[]("UZ��	5: > ?7CE%���H1%X���
	�[*("U���(*#�	�&W^KAY.�����	�����H�("UO�����,�)U�(*#
����.���?_����(*^F����#�`_a�9�b�


0
0

0.1

0.2

0.3

0

Γ(x+τ)

x

τ=0
τ=0.3

ττ  −τ

-T/2 T/2

cc

c�d�e�f�g
h,i�jki�l�mon�f�p2q�d�r�e4stf�r�uIv
d�n�r�w�j3x�y�hQz�n"v�v�h�zNq�d�r�h,d�w�n"{�v
|"d�r�h�z}r�f�~�h�g1d�u�|"q�q��YsGg
n�~��Gi�j��D� �Ed�v
y
�Gi�j�����|"r�zX�Gi�j������)� y�d�q�h v
y�hJw�n�q�d�zYq�dZr�h�dZw�n"{�v
|"d�r�h�z,�
f�w�v�{��M|Qp)y)|"w�h3w
y�d�sGv�n"s7z�n"v�v�h�zWq�d�r�h�{K�}���Fj
xEy�h,hI�Fh�uIv3n"s0v
y�hQz�h�q�|��WdZw h���f�d��*|"q�h�rKv v�n�|Yw
d�~4p)q�h�~�n_z�d��2u�|*v
d�n�rWn"sov
y�h�uIn�f�p)q�dZr�e4stf�r�uIv
d�n�r6d�r
v
y�hJ�oh�|*�K��uIn�f�p)qZd�r�e4q�d�~5d�v�jP���������4|"r�z��I�����_�����4d�rYv
y�h3��e�f�g
h"j

�"�



+*����/�&'$%�:+(����&-���C+234����+2!J$_���_\y�� �6X'A6$#"+*��1 \>�� �6-%�6 " 6mvL$"�#+%^*$\�<��$%��f*$%1Z)A,V/#������ T�������l�.��/�!#������ 
=k/����.�������X���#+2�l����$_����+2)#�������K,-�*=�����$j�K�5�2NK����/�����$�3D����+2��$%�l�������#���X+T�.$�3���+*�C�V3�+*�� *$_�*=��?+*1#&-�����5����$
$.`�������$%�#�.$@�*=>+2����3<+*�.������ X��$���$�3��A���C�������j���A�*!#�4=W�*3

�
.
� �
6

8:�����j��3�+*�#�����������a�R����/�3��"����3���/� ��]+i!#��������=g�*3�fP)#��=k/�3���+2�������L+2� � 0 5VU(Ii+*��1S+i��3�+*�����.3���������+*�
)0��=W/�3���+2�������L+2� ���0 5VU(IA6 B �O+x�K�5�2NK����/�����$�3'����+2��$�%���C	� , %W����$X1�$�p0�����������a�*= %���C	� ,@���_ ���^*$%�[���
� 'A6(& ,<c;����$_!#�#+*��$@1��
�J$�3�$%���.$�� �*)J$�,R�l����$@$��A/�+2�������

) �) * 0 6 � % " � @ #), >
%
�
, 4 % # @ � , >

%�� 4
�
,�4)�
>
% @ � 4 � ,	�'U %�%�6$#�53,

1D������ 
>
%LP ,43�$%+*1�$%1?��/���=W3���& \>�� �6X%�6G%�c;�U$\�*)���+*���i)0��=W/#��+2�������i1���+2 *3<+*&-�:=W�*3M ���^*$%� �ec0�������<�i���

���������(����\y�� �6Q%�6(IA6m8:��$:��������1'+*��1-)�3��*f*$%�-���C��$%�9�.�*3�3�$%��!J����1T���b����$%+*1�,'������/����������y�������'��$� �+2����^*$
+*�#1Q!;����������^*$ ��$ cm3�$%��!J$%�.����^*$%��,*6]vL$?��+*�h��$�$x����+2�T����$i����+2��$x�*=�!J$�3�=W$%�.�'��,R������3���� ,�%�� 0 53,
������$%�"����+2)0�������I,P+2�

�
0
� �
c>+*��1S+x!#+*��3@�*=4�I�U�a��������1a)#3�+*������$%�"+23�����$%�_=g�*3

�
.
� �
6 � ^w+*�C/�+2������ 

����$�$%�� *$%�E^w+*�C/�$%� � < +*��1 � "��*=7����$M��������1')�3<+*������$%�%c �5$D�.����p#3�& ����+2�5+*�X+2����3<+*�.������ T��$���$�3��R�����������
���E�*!a��+*�P);$\=g�*3<&'$%1?)J$��I�U$�$%�P����$%��$b�K�5�V)�3�+*���.$%�M�������#���?+��.$�3���+*���Z3�+*�� *$b�*= �e6D8:��$\1�$���+*����$%1
+*�#+*��,A��$%�:��$%+23:����$")#��=k/���+2�������V!J�����E�5�M�����;)J$_ ���^*$%�i����� %�6(&A6
� ��� � � 
 
 �	��� �M�1� !�
 � ���1�����	! ����
A� 
������ %����	! � �1%Y� ���	��� � � � �����������
8���$@p#��+*�e$.`R+*&-!#��$"����$.`R�#��)#����$%1x)A,i+-!J�*!#/#��+2�������V�*=G��$%/�3<+*�Y���������C��+2���*3���6 � +*�<�Z��$%/�3��������*);$�,R�
����$@=g���C�������C�� \$�^*���C/���������+*�7$��A/�+2�������#�:��+*����$%1x����$ E �*3�3<��� NZJY$%����+23D&'�R1�$%�dc� ���^*$%�x)A,

� ) � .) * 0 @�����	� � � % � . , % � .A@�
 �	� , @����
�� . % � .�@�
 
 , @����� % � .A@�
 � , 4�� . C %�%�6$#D#),
) � .)+* 0�� � � � % � . , @ � . �

��� % � . ,
C %�%�6$# " ,

�M����� � � % � . ,10 5VU(I � # 4[��+*��� � % � .A@�
 < , % 
 " � � C %�%�6$#H' ,

� � % � . , 0 5VU(I � # 4[��+*��� � % � . @�
 $), % 
�� � � C %�%�6$# % ,
+*�#1

��� % � . ,10 # % �.����� � % � .A@�
 $ , % % " 
 � ,	�+C %�%�6$#HI ,
�M��$�3�$ � . ���"����$�&'$%&\)�3�+*��$(!J�*��$%� ���C+*�dc � . ���\����$�=g3�+*�.�������O�*=�!;�*��+*������/�& ����+*����$%�m�*!J$%�Q+2� * c
+*�#1�� . �C�4����$@$.`R��$�3���+*�Y��/�3�3�$%� �:�C�wq $%�.��$%1?��� ���'����$"�E/�$�3����76G8:��$ E �*3�3�����NZJY$%��+23M&-�A1�$%�7�C�l+'�K�5�2N
^2+23���+2)0��$\^*$�3<�������P�*=m����$ MM�R1� ���fR���RNZMD/R`R��$.`V�I,E!J$-&'�R1�$%�dc;�����C���a��+*�j)J$�$%�P$.`A��$%������^*$%��,Z����/�1���$%1
�C��Y�$�=I6 � " ' � 6U8:��$j!#+23�+*&'$���$�3�^w+*��/�$%�U=W��������� Y:$�= 6 � " ' � c� ���^*$%�V)A, 
 < 0 @ #IU " c 
 " 0 #H*Ac 
 $ 0 # " c


 � 0 #8K UG%�c ����	� 0 % U 5Rc ���
 0V* U 5Rc ���� 0 " c 
 �	� 0 # " 5Rc 
 
 0 @ *W%�c 
 � 0 @ &;5Rc��E0 " 5 � \ % ��& "

"D[



τ

(a)  p=0.5

0∆

T/2

-T/2

0τc T

τ

0τc T

0∆

T/2

-T/2

(b)  p=0.45

0

τc

\y�� �/�3�$ %�6(I T5n4��=k/���+2�������?1���+2 *3�+*&-�:=g�*3 %k+3, � 0�5VU(I(+*��14%W)-, �M0 5VUG%2IA6 � � & U " +*��1
� �
� 5VU$#H'X���

����$@p� �/�3�$*6

';5



+*�#1�� 0 # % #HIA6 8:��$x)#+*�����V!�3��*!;$�3�����$%�T�*=M���#���-&'�R1�$%�4=W�*3(�.��������+*�E� � . +23�$?+*�-=g������������6 \��*35_D � . D � � cE����$j��,R����$%& ��+*�5����$j����+2)#��$Dp�`R$%1(!J�����E�U���X����$D����$.N ���������C��+2���*34!#��+*��$M!#��+*��$*698:�A/���c
�X�.��� ^*$�3� *$%�:���T+b����3���+*�C�(^2+*��/�$*c����2NK��+*����$%1X����$M3�$%�������� b!;�*��$%�E����+*�d6�B ���������U3�+*�� *$D�*=e����$j��/�3�3�$%�E��c
����$-��,A����$%& ���j$.`�������+2)#��$*6-8:�#���Dp�`A$%1a!J�����E�j)J$%�.��&'$%�@/�������+2)#��$'+2� � . 0 � � ^A�C+�+?��+*1�1���$.NK���A1�$
)0��=W/#��+2�������Z+*�#1Z+V����+2)#��$b���C&-�����.,R����$T����$%�a+2!�!J$%+23��D)E,Z����&'�R�����������"�.������$%�.�������76@8���$"������$��D�*=
����$'!;$�3<���A1#���@&'�*�������L+*�����A���C+2��$%1L�������P�������j���C&-���M�.,R����$')J$� ������D+2��#��*3��x=W3�$��A/�$%���.,*cY���#�����a���j+
�I,E!0����+*�5!�3��*!J$�3��K,S�*=�����&'�R���������C�-�.������$%�.�������Y6]8:��$X��,A����$%& �C�\&'����������+2)#��$V/�![��� � . 0 � � +2�
�M�������P����$-��/�)7�.3���������+*�PM��*!#=U)#��=W/�3<��+2�������?�R����/�3��%6 \��*3\����$'!#+23�+*&-$���$�3@^w+*�C/�$%�j ����E^*$-+2);��^*$*c � �
+*�#1�� � �C�:+2)J��/�� % 5-+*��1 [ *'3�$%��!J$%�.����^*$%��,*6

vL$\+*����/#&'$_����$_$.`R��$�3���+*�e��/�3�3�$%�E�:����!#/�� � . +*�l����$@=W�������������� T=W�*3�&GT
� . 0 � 4 6( % 
�� ��� @ � . ,
	 % * ,�C %�%�6$#H& ,

�M��$�3�$ �L�C�"+P�.��������+*�E�T��/�3�3�$%�E�\����!0/���c 
 � ��� ���\+P�.��������+*�E�'1�$%���*������ i3�$�^*$�3���+*�5!J�*��$%�E����+*�dc9+*��1
	�% * ,M��������$T��+*&'$b ����*)#+*��^w+23��C+2)#��$\+*� � �#6 % 'A6 " ,<6_F ��$�3���$%�M�*=G����&-$%�M+2�j�����C���i����$ �*N ���P��$%/�3����
��!#��f*$%�:���l1�$�p#��$%1V)A,


 9 % * � ���������9 ,'0 
��
	 +*��1 ) � 9)+* . 5VU %�%�6$#8K ,
F�$%/�&-$�3�����+*�U3�$%��/������\�*)���+*����$%1S������� �]0 %D%�%W�M�������[�.�*3�3�$%��!;���#1��@���a����$���� ��3<���������-!;$�3<���A1� � #�5 [ ,<c 6 0 5VU$#IC	( 0 #�5 5VC � 0C' U(I C ��� � C 
 � ��� 0 #�5 5P+*��1 
���	 0 5Z+23�$X��/�&(&-+23��$#�$%1

+*�-=g������������6 \��*3X��&-+*���
�
cU����$i��,R����$%&  *$%��$�3<+*����,O���������T!J$�=W$%�.�(��,R������3���� ,*6hFM3���/���1

�
0 " c

�5$X��+*�S�*)���+*���S�K�5�2NK����/�����$�3T����+2��$%�T���E^*����^A�C�� x������� ���������<������ i+*�"�U$%�C�m+*�@����$(����+2��$��*=5!J$�3�=W$%�.�
��,A���<��3����E,*cm+*��1[����$%��3'+2!�!J$%+23�+*�#�.$�1�$�!J$%��1#�"���Q����������+*�m�.����1#������������6S
R/#���[�K�5�2NK����/�����$�3-����+2��$%�
��$�$%&-�4���'^w+*�#������+23���/���1

�
0R%�c�+*��1x����$%+*1�,X&b/������ NK���C/�����$�34����+2��$%�:)J$� ����X���-+23�����$j��������$%+*176G8:��$

����+2��$'�*=U!J$�3�=W$%�.�D��,A���<�����E,?3�$%&-+*�C���j����+2)#��$'/�!a���x+2)J��/��
�
0 % U(I�)J$�,*��/���1P���#�����P����$'����$%+*1�,

&b/�������NK����/�����$�3:����+2��$%�� *$%��$�3�+*����,�+23��C��$*6

R��&-���C+23���,'���(����$@!�3�$%�.$%1��C�� -��$%�.���������%c�����$"!0��+*��$_3�$%1�/#�.�������x�*=y����$"&'�R1�$%�7!#3���^R��1�$%�:+(����$%+23

/#��1�$�3�����+*�#1����� [�*=\����$]3�$%��/������V ���^*$%� +2)J��^*$*6 8:��$]�.��/�!#�C���� Q=W/#� �������u=W�*3i����$O&'�A1�$%�_/���1�$�3
�.���#����1�$�3�+2�������?���M�*)���+*����$%1Z�E/#&'$�3�����+*����,*c��������<�?����$.`R�#��)#����$%1Z��� \y�� �6�%�6(&A6 1D������ (���������.��/�!#������ 
=k/����.�������7ce�5$(�*)���+*�C�S)#��=W/���+2�������]1���+2 *3�+*&(�@�*=l����$-�I�U�2NK���C/�����$�3'����+2��$%�b=g�*3b ���^*$%�'�ec��M�������O+23�$
�C����/�����3<+2��$%1i���K\>�� �6X%�6LKE6jvL$'��+*�P��$�$\����+2�j+X!#+*��3��*=m�K�5�2NK����/�����$�3@����+2��$b�������P��$� �+2����^*$ ��$ $.`������
���*�\������,P=W�*3

�
.
���
)#/��b+*�����?=W�*3

� F ���
6?vL$V�<��$%��f*$%1Q���#+2�\����$�����+2)#���C���K,a�*=l����$�)�3�+*���<��$%�

+*�.��/#+*����,L+*1�&-�����"����$($.`�������$%�#�.$(�*=:+*�[+2����3�+2������ P��$���$�3��R�����������'���E�*!Y6x8:�A/���c�)J�*���]����$�����+2��$X�*=
!J$�3�=W$%�.�j��,A�#����3����E,?+*��1Z����$'��$���$�3��R�������#���@���A�*!#�D+23�$'����+2)#��$b��^*$�3@����&-$b3�$� ������?�*=

�BF � � 6_8:�����
)0������+2)#���C���K,@�.��&'$%�G=g3���& +j!0+23�������/���+23y!#�#+*��$l1�,A�#+*&-�����y��$%+23G����$l)0��=W/#��+2�������b!;���C� ��c2�����C���'1��
�J$�3��
=W3���& ���#+2������� %�6G%�6mvL$\�������;$.`R!#��+*���V���:�C�V����$"��$.`R�:��$%�.�������76


R��&-���C+23\3�$%��/������T��+*�h)J$V�*)���+*����$%1r��=:�U$i�C���.3�$%+*��$ � � < ��������$%+*1Q�*= � cm���#�����h��&-!#����$%�\����+2�
����$P1�$%�C+%,h�*=_����$a�.��/�!#���C�� L$ �;$%�.����^*$%��,t���#�.3�$%+*��$%�X������� � � < 6 8:�#���-��+*� )J$?��$�$%� ^A�C��/�+*����,Q���

'�#



0

10

20

30

−T/2 0 τc T/2
Γ(

x)

x

\y�� �/�3�$ %�6(& T N5��/�!#�C���� b=W/��#�.�������76 � � #�5 [ +*��1
� �
� & UG%�6

\y�� �6 %�6(&Ac#=g3���&B�������<�X�5$@p#�#1X���#+2�l����$@�.��/�!#���C�� T=W/��#�.�������V���4=W/�3�����$�3l������=W��$%1V���-��$�=W�l=g�*3M��+23� *$�3

� � < 6U
R/��<�V+*�X$ �J$%�.�l�*= � � < ���U�C� ��/�������^*$%��,-/���1�$�3������A�A1X=g3���&s����$D��+2��/�3�$M�*=�����$j!#/�����$�=k/����.�������
 ���^*$%�Z)A, � �06 % 'A6(' ,<cY�d6 $*6�c;������+2f*$%�j����$b����&'$\�*= � � < ���V3�����$@����$\!#/#����$*c0���X����+2�D����$b�.��/�!#������ (���
$ �J$%�.����^*$%��,�1�$%��+�,*$%176m8:��$j����&(����+23m$ �J$%�.�4$.`R�C�����l���X����$D��+*��$_�*=�J B \O+*�5�5$%��� %k��$�$�\y�� �6-'A6$#),<6 � %LP ,
�C�"��1�$%�E������+*�9�M�����]����$��.��/�!#���C�� V=W/��#�.�������S���]����$X���C&-��� � � < � 5Rc9+*��1]����$X�.��/�!#�C���� x=k/����.�������

>
%LP ,5���5$ �J$%�.����^*$%��,V����=W��$%1����T��$�=g�l�.��&'!#+23�$%1V)E, � 6 �_��$_��+*�x����$%��fX����+2�l����$j�.��/�!#������ b=k/����.�������

�C��������=g��$%1x=k/�3�����$�3����X��$�=g�:=W�*3j��+23� *$�3 � � < 6:8:��$\&-������&b/�& �*=9����$b�.��/�!#���C�� '=W/#���.�������7c#�����5$�^*$�3%c
�C�:����������$_���#��=g��$%1x1#/�$j���-����$"��/#1�1�$%�x1�3��*!x�*= � %LP ,<6

� ��� � �1!�
 ����� � � � ��� ! �A�	� �Y� � ��� �
B �i���#���:��$%�.�������Yc0�5$\�.�����.$%�E��3�+2��$T���i����$"^R�����������I,X�*=y����$\)#��=k/�3���+2�������i!;���C� �l����$�3�$@����$b����+2��$\�*=
!J$�3�=W$%�.�4��,A�#����3����E,X������$%�4����+2)#�������K,*69FM��������/� ����U$_��+*�V��+�,����*���#���� \+2)J��/��5����$j ����*)#+*�J����3</��.��/�3�$
�*=5����$-!0��+*��$'��!#+*�.$(�C�a����$-+23� �/�&'$%�E�@��$�3�$*c��U$-������� ����$-���A��+*�m����+2)#�������K,?!#3��*!J$�3��K,P��$%�.$%����+23�,
=W�*3'����$x$.`�������$%���.$x�*=D+*�r+2����3�+*�.������ ]��$���$�3��R���������������A�*!YcG���#�����[�4+*�-+23�/� *$%1h��� � 'A6LKEcl���b$%+*������,
��+2������p�$%1X��$%+23m����$M)#��=k/�3���+2�������-!;���C� ��6y8:��$�&-�A1�$%�#$��E/#+2�������-�5$M�.��������1�$�3U�C� � �06�%�%�6 [ ,<c� ���^*$%�()E,

))+*-,/. % * ,10 #'4 6(
78
9;:=<?>

� ,/. % * , @`, 9 % * ,A4 � � C %�%�6$#H* ,

�M��$�3�$T�U$'��3�$%+2�
�
+*�"+��.���E��3����9!0+23�+*&'$���$�3%6bvL$-+*����/�&-$b���#+2�_����$'�.��/�!#������ X=k/����.�������

>
%LP ,M���

&(������&b/�& +2� P 0
���
6m8:��$%�7cR=W�*3M��&(+*�����P � P @����

c��5$@&-+%,V$.`R!#+*��1
>
+*�

>
%LP ,10 � � 4 � " �P " @ � $ �P $ 4 Z	%��P � ,�C %�%�6$# [ ,

' "



0

0

T/2

-T/2

τc

∆

τ

(a)  p=0.5

0

T/2

-T/2

0

τc

τ

∆

(b)  p=0.45

\y�� �/�3�$ %�6LK TUn5��=W/���+2�������i1���+2 *3�+*&(�l=g�*37%k+3, �G0�5VU(I'+*�#14%W)-, � 0�5VUG%2IA6 � � #�5 [ +*��1
� �
� & UG%�6

'D'



�M��$�3�$ � " ���y!J����������^*$*6G
R/�!�!J����$5����+2� � $ ���y!J����������^*$*c*�������<�'���9+*�.��/�+*����,\����$:��+*��$:=W�*3G����$:�.��/�!#������ 
=k/����.�������i1�����!0��,*$%1x���M\y�� �6-%�6 " 6 B �x����������+*��$*c;��$���$�3��A���C�����7���A�*!#�:+23��C��$%�� Q � "-, � , � 8 � � �;: : �w6lvL$\!#/��
� � 0�5_+*�#1�� $ 0 #4)E,\!�3��*!J$�3���,_3�$%����+*������ 6 +*��1'������=W������ M����$:��+2��/�3<+*�E=W3�$��A/�$%���.,b��� � �06 %�%�6$#H* ,<6
B �V�*3�1�$�3l���'p0��1�!;��������)#��$M�K�5�2NK����/�����$�3D����+2��$%��c��5$@������^*$ � �#6 % 'A6 "D" ,:/������� � �#6 %�%�6$# [ ,<65vL$@����$%�
�*)#��+*���a����3�$�$-�����C/����������M=g�*3 � +*�_+V=W/��#�.�������P�*= �S+*��1

�
6	�j��$'���D����$'��3<��^A�C+*�������C/�������� � 0 5

%W����$@!J$�3�=g$%�.�:��,A���<��3����E, ,<c0+*��1x����$_�*����$�3<��+23�$@ ���^*$%�x)E,

� 0 % # @ " � , % � " @ ' �� ,
"

�
� % # @ " � , " % � " @ ' �� , "

%
4 " � " �

�
C %�%�6 " 53,

�M��$�3�$ �

� � �5@ � � 6 FM�*��$?����+2�X����$i$.`R!�3�$%���������r+2)J��^*$Z/#������ a����$P+2!�!�3���`R��&(+2��$
>
 ���^*$%�o)E,

� �#6 %�%�6$# [ ,b���b^2+*����1O������,]=W�*3'��&-+*���
�Vc9���#�����Q���b+*�.��/�+*����,S����$x��+*��$i��= �r���T��������$V��� # % " +*��1
�

�
�C�_��&-+*���d6-
R/�)0��������/������� � �06 %�%�6 " 53,"��� ��� � �E�%6 % 'A6 " ' ,KN % 'A6 " I ,<cU�U$'�*)#��+*���a$%�� *$%�E^w+*��/�$%�@+*�����R��� N

+2��$%1]�������Z����$T�K�5�2NK����/�����$�3"����+2��$%��6\8:��$\3�$%��/��������� X)#��=k/�3���+2�������P1���+2 *3<+*& =W�*3_ ���^*$%���]���j���������
�C� \>�� �6 %�6 [ 6 8���$i��������1h+*�#1h)�3��*f*$%�r�C����$%�T ���^*$i����$i)�3�+*���<��$%�'�*=_��$� �+2����^*$P+*��1h!J����������^*$ ��$ c
3�$%��!J$%�.����^*$%��,*6h8l�5�]��������1Q)�3<+*������$%�T$.`������'=W�*3

�
.�5RcU�M�������Q+23�$?3�$�!�3�$%��$%�E��$%1h)A, %���C	� ,T+*��1

%��=C	� ! ,_������� � .�5a+*��1 � ! F 5R6 �j��$V��+*�O$%+*������,S�.��&'p#3�& ����+2�T����$V$%�� *$%� ^2+*��/�$%�b�*=M����$%��$
����+2��$%�@��+2������=W, � < C � ! " . 5�+*��1 ��" C ��$ C � ! < C � ! $ F 5�=W�*3_+23�)#����3�+23�, �L+*�#1P��&-+*��� �� 6j8���$7�A/�+*�E�����K,� 1�$�p#��$%1P)A, � �#6 % 'A6 " * ,j��+*�]+*�C���V);$'��+*����/#��+2��$%1L+*��1P��/�3����D��/��_���x)J$T��+23� *$�3_����+*� #26T8:�A/���c
+*�C�U����$V���A��+*�4����+2)#�C�����K,O�.����1����������#�"=W�*3'����$V$.`R�C����$%���.$x�*=M+*�h+2����3<+*�.������ ]��$���$�3��R�������#���(���A�*!h+23�$
 *$%��$�3�+*����,V��+2������p#$%1\q�/����:+2);��^*$"����$_)0��=W/�3���+2�������V!J�����E�5!#3���^R��1�$%1 � $ . 5R6

BI�@���"+*�����x!J��������)0��$"����+2�\+x��$���$�3��R�����������T���A�*!]���j=W�*3�&'$%1L�M��$%� � $ F 5R69B �a����+2�"��+*��$*cy���_���
$.`R!J$%�.��$%1?����+23�����$  Q � � , � 8 � � �;: :��2cJ���(���#+2��)J�*���i����$\��$���$�3��R�����������_���E�*!P+*��1i����$b����+2��$b�*=>!J$�3�=W$%�.�
��,A���<��3����E,\&-+�,b�.�A$.`������y��^*$�3m����&'$l3�$� ������T�*=;��$� �+2����^*$

�
6yvL$:��+%^*$�=g��/��#1"����+2�G��/����T)#�C����+2)#�������K,

+*�.��/#+*����,a+23�����$%�@�C�a����$-&'�R1�$%�9���E��3��A1#/��.$%1L����� %�6(IA6X8���$'$.`A!0+*���������a�*=4����$-�.��/�!0������ V=k/����.�������
1#����!#��+�,*$%1Z�C�5\y�� �6?%�6(&X=g�*3_��&-+*�C� �P]+*�.��/�+*�C��,i���������D����+2� � $b���D��$� �+2����^*$*6_vL$'��+�^*$'�����.��������1�$�3
�#�� ���$�3T�*3�1�$�3��-���]�.��&'p�3�& ����$x)0��=W/�3���+2�������Q����3�/��.��/�3�$V=g�*3 � $ F 5Rc5�����C���h���T�.��&'!#�C����+2��$%1r���
 *$%��$�3�+*�Y+*��1i�C�:���*�:����/�1#��$%1V=W/�3�����$�3%6

� ��� �3� ���1� ������� �
vL$D��+%^*$j���������'����+2�U����$���$���$�3��A�����C�����4���A�*!(+23�����$M���'����3�$�$M��!J$%����p#�l&'�R1�$%���9�*=J ����*)0+*����,\�.��/�!#��$%1
������������+2���*3��%6 B �P!#+23�������/��C+23%c0���D�4+*�_+23� �/�$%1P����+2�j����&'$.NK1�$%�C+%,?���P�.��/�!#�C���� -$%+*���C��,i����1�/#�.$")#��=k/���+wN
�������]���P����$(=W�*3�&-+2�������S�*=l����$X��$���$�3��A���C�������'���A�*!Y6x8:��$X��$���$�3��R�����������'���E�*![��+*�O+23��C��$(^R��+x)J�*���
��/�!J$�3��.3���������+*�m+*��1S��/�)J�.3<��������+*�y)#��=k/�3���+2����������6 B �O����$���/�!J$�3��.3������C��+*�y����$*cG+i!#+*��3"�*=l�K�5�2NK����/�����$�3
����+2��$%�l+23�����$%�5+2)J��^*$j����$D)#��=k/�3���+2�������'!J�����E��cA�������<�(+*���4+%,R�4��+2������=W,-����$D���A��+*�;����+2)#�C�����K,-�.���#1����������
=W�*3"����$-=g�*3<&-+2�������L�*=l+*�S+2����3<+*�.������ Z��$���$�3��A���C�������T���A�*!Y6 B �L����$X��/�)�3���������+*�>����$*c>+?��$���$�3��R���������
���E�*!(��+*��+23�����$:)J$%�����r����$�)#��=k/�3���+2�������T!;���C� ��c ���"����+2�U);�*���-����$M����+2��$M�*=7!J$�3�=g$%�.�U��,A�#����3����E,'+*��1
����$"��$���$�3��R���������C�M���A�*!?�.�A$.`R�C���l��^*$�3D����$"����&-$_3�$� ������x�*=y����$_)#��=W/�3<��+2�������V!#+23�+*&'$���$�3�6

'W%



0

10

20

30

−T/2 0 T/2

Γ(
x)

x

α−1=3.5
α−1=5.0
α−1=7.0

\y�� �/�3�$ %�6(* T�N5��/�!#������ a=k/����.�������#��6 8:��$?+23�3�����������1#����+2��$?&-���#��&\/#& !J����� ���(�*=_����$Z�.��/�!#������ 
=k/����.����������6

∆

τ
τc

0

\y�� �/�3�$ %�6 [ T5n4��=k/�3���+2�������x1���+2 *3�+*& +23���/���1
�
0
� �
=W�*3 � �0�5VU(IA64F !#+*��3l�*=9�������C1V)�3�+*���<��$%�:$.`������

=W�*3
�
.
� �
c��������<�x��+*�i)J$@�.������$%�.��$%1Z��$���$�3��R������������+*�C��,*6

'DI



� �������	��
 �

� ��� � %.��� � ��� �"���  �����

B �\����$U!#3�$%��$%�E�e����$%���C��c2�U$4��+%^*$l1��C����/�����$%1@����$5�������Q���������<������ �!#��$%����&'$%�����\���" ����*)#+*����,j�.��/�!#��$%1
������������+2���*3��%6y8���$�!#��$%����&'$%�����X+2!�!J$%+23��U+*�5+\3�$%��/����m�*=e+2!�!�3���+*�<�(�*=e����$M��,R����$%& ���T��$���$�3��R�����������
���E�*!#�%6yF !#+23����C��/���+234����+2)#�������K,-!�3��*!;$�3��K,(�*=��K�5�2NK����/�����$�3M����+2��$%�:+*��1x+'�.$�3���+*�C�x��,A&(&'$���3�,-�*=>��/�3
&-�A1�$%��+23�$l3�$%��!J��������)0��$m=W�*3G����$l=W�*3�&-+2�������-�*=0����$:��$���$�3��A���C�������5���A�*!Y6>8���$l3�$%��/��������� j��$���$�3��R�����������
���E�*!a��������+2)#��,x=W�*3�&'$%1i����3���/� ��P��� ^2+23���+*�E�M��/�)#��!#+*�.$%������+2�D$.`R������=W�*3M����$T�.$�3���+*���P��,R&-&'$���3�,x�*=
��/�3@&'�A1�$%�dcY+*��1L���@���D3��*)0/����_/���1�$�3@��&-+*���>!J$�3���/�3�)#+2�������Z/��#��$%���D����$-��,R&-&'$���3�,a���j)�3��*f*$%�76�B �
�4+*�'+*�����a+23� �/�$%1[����+2�T����&-$V1�$%��+%,S�C�O�.��/�!0������ Z$%+*������,]��+*/���$%�T����$V��3�+*�������������]=W3���& ����$x����+2��$
�*=j����$?!;$�3�=g$%�.�-��,R���<��3����E,[���S����$i=W�*3�&-+2�������h�*=j����$Z��$���$�3��R�����������V���A�*!Y6rvu��$%�h����$?����+2��$?�*=
!#3�$�=g$%�.�'��,R���<��3����E,O������$%�T����+2��)0�������I,S��/�!J$�3��.3���������+*����,;c>���A��+*�4����+2)#�C�����K,]�.���#1������������b��$%�.$%����+23�,O=W�*3
���#���4=g�*3<&-+*�����i���4 *$%��$�3�+*����,V��+2������p#$%1\q�/����:+2);��^*$"����$_)0��=W/�3���+2�������V!J�����E��6

vL$X �+*����$%1]�.��������1�$�3�+2)#��$-+*1�^2+*�E��+2 *$%�b�C�]+i����$��*3<��������+*�G+2!�!#3���+*���O)E,L+*����/�&-���� � " ���-�.��/RN
!0������ �60B �RNl��+2!Y6
'Ac4��/�3�&'�A1�$%�:���'3�$%1#/��.$%1r���[+S����+*��1#+23�1h!#��+*��$?&'�R1�$%�l����+2�����'=W3�$�$?=W3���&
&-$%&'�*3�,P$ �;$%�.�"�C� ^*����^*$%1a�*3<�� �����+*����,*6�B � N4��+2!Y6 'AcY�5$-+2 �+*���L�*)���+*�C�L+V!#��+*��$-&'�R1�$%�>)A,Z���#�����
�5$'��+*�a�� ����*3�$T��3�3�$%��$�^w+*�E�M1�$� *3�$�$%�M�*=U=g3�$�$%1���& +*�����A���C+2��$%1a�������P+*&'!#������/#1�$"1���3�$%�.����������6 B �Z����$
!0��+*��$i&'�R1�$%�4�*)���+*����$%17cm����$x$ �J$%�.�-�*=_1�$%��+�,[�C�[�.��/�!#������ L���'�.���E^*$�3���$%1t+L!#��+*��$x���#��=g�T�*=D����$
�.��/�!#������ �=k/����.�������7c7�M�������L1�3�+*��������+*����,i3�$%1�/��.$%�_+x1#� 
(��/����I,Z���P��3�$%+2���C�� i1�$%��+�,*$%1S�.��/�!#�C���� �6�B �
!0+23�������/���+23�c�����$")0��=W/�3���+2�������i����3</��.��/�3�$b����1�/��.$%1V)A,i1�$%��+�,i��+*�Z����$%+23���,x)J$"/���1�$�3������A�A1x����3���/� ��
����$@!#��+*��$@&-�A1�$%�J�*)#��+*����$%176

'D&



� � � � ��� ����� ��� ����	� 

BU+*&s^*$�3�,( *3�+2��$�=k/��;��� ^m3��*= 6��T6 1@/�3�+*&'�*���b=W�*35)J�*���V&-+2��$�3��C+*�0+*��1V&'�*3<+*�0��/�!�!J�*3��m����3���/� �����/��
&\,x����/�1�,*6 MM�C�l�U�*3�fA�M+*��1?���C�4�5+�,x�*=>���#����fR���� '��+%^*$b���������J$.`R$�3���$%1P+-1�$�$�!P��� �#/�$%�#�.$D���Z&'$*6 B
�C��f*$"��������+*��fM^m3��*=I67
;6J
���������&'�*����c?)D3%6;8@6 E �$#%/� �/��<���e+*��1 )D3%6/M"6?FM+2f2+2�V=g�*3D)�3���+*1P��/�!�!J�*3��
+*�#1S��������3�/��.����^*$(+*1�^A����$*6;B@+*�����?���#+*��fa��� )D3%6>8_6�N4�#+%�4+*� ,�+Rc )D3%6>8_6�FM��,�+2 �� c )M3�6�M\69
R+2f2+*�dc
E 3%6m8@6'\�/���+*1#+Rc E 3%6 /�6m8e$�3<+*&-+2$*c E 3�6 )b6m8�+*�#+2fw+Rc:+*��1r����$?&'$%&\)J$�3��'�*=j����$?8:��$��*3�$�������+*�
^U� ,R���������D3���/�![�*= 1_,*�*��� 1M����^*$�3������I,]=g�*3T^2+*��/�+2)#��$(1�������/#�����������\+*��1O!�3�$%������/��b+*1�^R���.$*6`\��*3-+
!0��$%+*��+*�E�(+*��1h3�$%�C+w`A$%1t+2��&'����!#��$�3�$?���h����$Z����/�1�,[3��A��&xc
B'+*& ����1�$�)���$%1Q��� E �%6'\56
MD��3�������c
E 3%69
;6y
R�#��&-+i+*��1 E �%6��T6 1@+��5+2 �/#�����5�����Z�A����/�!E,L����$V��+*&'$�����/�1�,L3��E��&x6;B_���#+*��f]+*���G�*=
&\,(=W3���$%�#1��G=W�*34$%���.��/�3�+2 ����� T+*�#1X���#��!#��3��C�� @&'$*6 Bm+*�����T+2!#!�3�$%����+2��$_+*�V+2��&'����!#��$�3�$j�*=Y=g3�$�$%1���&xc
!J$��*!#��$*c���+2��/�3�$*c�+*��1i$.`A$�3����C��$_ *3���/���1#�:���.1_,*�*����1D����^*$�3<�����K,V+*��1 1@,*�*��� N4���I,*6

B9�U��/��C1(����f*$����\$.`R!�3�$%���U&",X1�$�$�!J$%���G *3�+2������/#1�$����T&",'!0+23�$%� ���%cA&\,')�3��*����$�34+*��1X&",-���C����$�3��
=W�*3:����$%��3: *$%��$�3���/�����/�!�!J�*3���6



� ��� ��������� �

� � � � � 	 %4�t� � � �
	.� � � ���  	!� %  	 �$	!�

FD���.�*3�1��C�� Q��� Y�$�=I6 � #�5 � cj�5$L��/�&-&-+23<�$#�$P��$�3�$a����$a$.`R������$%���.$L+*��1u����$L����+2)#���C���K,o+*�#+*��,A�����(�*=
 � W W "�8 , � � W�Q : 8 � * ��: Q  8 "-,  8+� 8 "  e���_����$U!#��+*��$U&'�A1�$%�* ���^*$%�\)E, � �06�% 'A6$#H* ,<cE���_�����C���_$%+*�<�b���C/�����$�3
�.���#���������\�*=:����$���+*&'$V�E/�&\)J$�3"�*=:������������+2���*3��%6aB � � �06 % 'A6$#H* ,<cm����$�3�$V+*���5+�,A�b$.`������b��,A&(&'$���3����� NK���C/�����$�3�����+2��$%��3��*��+2������ X����$%+*1�����,*c��M�������x��+*�?)J$_3�$�!�3�$%��$%�E��$%1x)A,

, . 0
	 � * 4 � %LJU&-�A1 � ,� C %kF\6$#),
�M��$�3�$�	 � ���l+-�.��������+*�E��=W3�$��A/�$%���.,��*=�����$"��,R&-&'$���3���� � NK����/#����$�3�����+2��$*c0 ���^*$%�x)A,

	 � 0 254 6 !� �
� <8
 : � >

� � �� 4 � � U %kF\6 " ,

8���$_$%�� *$%�E^w+*��/�$%�:+*�����R����+2��$%1i�M�����V����$%&B+23�$\��+*����/���+2��$%1i+*�

� �
� � � � 0 6
!� �

� <8
 : � > !
� � �� 4 � � C %kF\6(' ,

���
�
� � � � 0 6

!� �
� <8
 : � > !

� � �� 4 � � % # @ $.`A!2� @ � � � � % � � ,�U %kF\6G% ,

� �
� � � � ���(+O��� ��3<+wNK����/�����$�3X$%�� *$%� ^2+*��/�$Z�������r&b/�������!#���������I,S�*= ( @ � 6 � � �
� � � � %W!�0 #2c�6%6�6�c �RN4#),(+23�$
+*�����A���C+2��$%1i�������?��� ��$�3�NK����/�����$�3 �0/��.��/�+2���������%6 BI=9+*���Y����$%��$@$%�� *$%�E^2+*��/�$%���#+%^*$\��$� �+2����^*$"3�$%+*�Y!#+23���c
����$"��,R&-&'$���3���� � NK����/#����$�3�����+2��$b���l����+2)#��$*6

'D*



� �#� ����� �3%.� � 
��

� # � F"6;8_6�vu����=W3�$�$*64n5�������* �����+*�Y3<� ,A����&-�:+*�#1i����$\);$%�#+%^R���*3:�*=9!J�*!#/���+2���������4�*=9�.��/�!#��$%1?��������� N
��+2���*3���6�� <�� �0" � ,�<�� � � : <Cc � ���d6 #H&Ac0!Y6 #HIAc�# [ &QKE6

� "�� F"608_6�v �C��=g3�$�$*6�� �0"�� " �IW "�8 , � � S � � � : � 
�� � �;:�� � W ".64
A!�3����� *$�3%c�FM$�� �G�*3�f0c�# [ *;5R6
�G' � JY$���� �j��+*����cI^>$���$�3PMD/��E��$�3%c2+*��1"FD��1�3�$�� E �8N4/#�����R���7c%$%1#�����*3���6�� �0" � , � � S
	 " � , 8k6A
A!#3����� *$�3%c
� $�3���+2 �c�# [D[ 5R6

� % � /�6�n4/���f06l
A,A�#����3�������/��43��E,E����&(��� �#+*�������� T�C�Vp�3�$��#��$%�%6 " 6�� <
� " + <�� � � :$<Cc � ���d6�&D'Ac0!Y6 " &DIAc
# [ *D*A6

�GI � F"6 1-6 �j�������YcenD6PN4��+*���.$*c�+*��1 � 6 1-6 ^G,*$*6 E $���+2)J�������'�.��/�!#�C���� V+*��1]��,R������3������$#%+2�������a�*=
��+*1��'������������+2�������#�9���',*$%+*���5�.$%����!J�*!#/���+2����������6�� , � �0<�� � � � �0" W <�� � � ��� �! <Cc � ���d6?# %2IAcE!e6<'�# [ c
# [ K�#26

�G& � �b6 1@/�3�+*&'�*����6�� �0" W � � �;:��' � � : :$� 8 � � ����� � + "  � � � ��� Q , � Q : " � � ".6i
A!�3��C�� *$�3%c FM$�� �G�*3�f;c
# [ *W%�6

� K � 
A��$�^*$%� M"6;
R��3��* �+2� #b+*�#1;B +*�a
A��$��4+23���6 N4��/�!#��$%1V�������C����+2���*3��M+*��1x)#�������* �����+*�Y��,R������3������$#%+wN
�������76�� � � " � 8 � � ��� W "-, � � � � c � ���d6 " & [ c#!Y6X&D*AcP# [D[ 'A6

�G* � 
;6�M"6e
A��3��* �+2� #*6 FM�*3�)J$�3��j����$%��$�3�� �D)�3�+*���Z�5+�^*$%��6 B �]
;6�Je$�^A���Yc;$%1#�����*3%c�� " ��8 Q , "! � 8 "  � �
� � �IW � 8 � " W � 8 � �  <c � ���d6�#�5R6J
A!�3����� *$�3%c F�$�� �G�*3�f0c�# [D[ %�6

� [�� F"6
^m��f*��^A��fA,*c E 6XY�����$%� )0��/�&xc�+*��1=/�6 1@/�3�������6"� � � ��� , � � �$# � 8 � � � 6 N4+*&\)�3���1� *$ 1M����^*$�3������I,^G3�$%����c " 5 5 #26
� #�5 � 1'63�DfR/�1�+R6 � +23���$��I,b+*�#1T *$%��$�3�+*�����I,"�*=;����/�����$�3��C�� D�C�\ ����*)#+*����,"�.��/�!#��$%1b�����������C+2���*3���6&%'� �! � � �

' c � ���d6�&D'Ac�!Y6X% " %�c�# [D[ 'A6
� #D# � � �C+*1���&-��371'6 � +*��+2 �cm$��-+*�d64�j����������+2���*3�,O����/�����$�3b!#+2����$�3����'�C�O+a����&'�* *$%��$���/��'����$%&(����+*�

��,R����$%& �������i ����*)#+*�J=W$�$%1�)#+*��f;6( � 8 Q , ".c � ���d6X% 5Q&Ac#!Y6X'D* [ c " 5 5 5R6

' [



� # "��9E �C����$��*f 1@��&ic5$���+*�d6 N5���E��3������C���� ]����$%&-����+*�M��/�3�)#/���$%���.$x)E,h ����*)#+*�M1�$%��+%,*$%1t=g$�$%1�)#+*��f�T
^y+2����$�3��S=W�*3�&-+2�������O���S��+2��+*��,E���C�(�.�P�%`���1�+2�������S���]!��)% #D#�53,<6 � � � " � � ".c � ���d6 "D[D" c9!Y6
#H'DIQKEc
" 5 5 #26

� #H' � )b6 MD+*����$%� c �b6 E +2����cj+*�#1 Nj6 E $%/�����$�3%6 N4��/�����$�3<���� O+*�#1 ������� ���������������� O���  ����*)#+*�C��,
�.��/�!#��$%1V!0��+*��$_���������C��+2���*3���6 % � �! <�� " + < � c � ���d6-%2*Ac�!e6X'W%<KEc�# [D[ 'A6

� # % � F"608e3�$%�C��&-+*�7698:��$_)0����1����� "!�3��*)0��$%&x6 � Q , ,�<�� � � � <� 7" Q , � � � � :$<�c � ��� 6�&Ac�!Y6 #8K�#2cP# [D[ &A6
� #HI � FM�C+*����)D$%����$.`���$*c��J+*����+23�, \U6 E +*�C��$%�7c�+*�#1S8�$�3�3�$%���.$�/�6>
A$ q���������fR�d6 1@�C��$������'&'�R1�$%���_�*=

��,R��+2!������y��3�+*�#��&-�����������76WB ��Nj6)1_�R���"+*�#1 B<62
A$� *$�^0cw$%1������*3<��c��&"�8 � � � �	�  7" Q , � � �;:�� � � " : �	��
 c
����+2!#��$�3�#26 E B 8 ^G3�$%���%c�N4+*&")#3���1� *$*c " ��1i$%1����������7c�# [D[ *A6

� #H& � Y@6 � 6 E ��3��������\+*��1i
;6�M"60
R��3��* �+2� #*6m
A,A�#����3����#�$#%+2�������X�*=e!#/��C��$.NK�.��/�!#��$%1X)#�������* �����+*�#������������+wN
���*3���6"��� ��� � <
�'� �-: <	�4� 8 ��<Cc � ���d6�I;5Rc#!Y6 #H&W%2IAcP# [D[ 5R6

� #8K � �b6 1@/�3<+*&'�*����6 N5������$%�.����^*$X��,R���<��3������$#%+2�������]�*=l!#/��C��$.NK�.��/�!#��$%1]������������+2���*3<�\+*��1S$.`R������+2)#��$
/��������%6 % � �! � � � ' c � ���d6�I;5Rc#!Y6 #HIAc�# [D[ #26

� #H* � �b6U
�+2fw+*�dc4
;61\�/���+*�#+*�����dcm+*�#1o
;6m
R��������&-�*����6O8�$%&'!J�*3�+*����,S�.�*3�3�$%��+2��$%1r����!#/����\���]��$%+2fE,
���E��$� *3�+2��$.NK+*��1RN p�3�$Z&'�R1�$%���X��+*�o3�$�!#3��A1#/��.$i��!#��fR���� ]����+2�������(�*=_�.�*3��C��+*�M��$%/�3�������6  " Q , �;:
 "�8 � � , �) <c � ���d6�# " c#!e6 #D#H*�#2c�# [D[D[ 6

� # [�� JG6 \U64FM)�)J�*���(+*��1 N4+23�fh^2+*� � 3�$�$%���M� q f;6 FD��,A�#����3�������/��X����+2��$P���t��$��K�5�*3�fR�(�*="!#/�����$.N
�.��/�!#��$%1V������������+2���*3��%6 %'� �! <�� " + < � c � ���d6X%2*Ac�!Y6 # %2*D'Ac�# [D[ 'A6

� " 5 � /�6-Jm6XMM�C��1�&-+23�����+*�#1aY@6 E 6XY�����$*6mF &'�R1�$%�J�*=9��$%/�3�����+*�J)0/�3��������� T/#������ T����3�$�$@�.��/�!#��$%1
p�3����l�*3<1�$�3:1��
�J$�3�$%�E����+*�J$��E/#+2����������6 %�, � �)<���< � � �)<�� � � � � � ��c � ���d6 "D" #2c0!Y6X*QKEc�# [ *W%�6

� " # � 
;6-Y�+2 ��#+%^2+*����+23��>+*��1 /�6#F"6 �_��+;#%��$�3%6 % � �! <�� " + <
� "�8 8+<Cc � ���d6�* " c0!Y6 "D[D[ #2c�# [D[D[ 6
� "D"�� Je+23�3�,\FM)�)J�*���G+*��1 � ^*$ E +23�1�$�3�6 E �A1�$%�C���� j��&-+*���R��$��I�U�*3�f;6?B � ND6 1@�A�<�-+*��1 B 6E
A$� *$�^0cE$%1RN

�����*3���c
�4"�8 � � � �	�  " Q , � � � :
� � �3"�: � ��
 c��<��+2!���$�3 #�5R6 E B 8 ^G3�$%����c Nl+*&")�3<��1� *$*c " ��1($%1#���������7c
# [D[ *A6

� " ' � /*�����9YM��� #�$%��+*��1(n5+23<1 � 3�&(+*� ��3���/���60FD��+*��,R�����y�*=J��$%/�3�+*�R$.`�������+2)#���C���K,b+*��1'���������C��+2����������6 B �
ND6�1@�A�<�?+*��1 B<6J
A$� *$�^0c;$%1������*3<��c��&"�8 � � � �	�  7" Q , � � �;:�� � � " : �	��
 c;�<��+2!���$�3�KE6 E B 8E^m3�$%����c
N4+*&\)�3���1� *$*c " �#1V$%1����������7c # [D[ *A6

% 5


